Svenska Bridgeférbundet
Brons 25 Hcp 2019-08-02

Partavling, 62 bord, 124 par. Antal brickor: 24. Medel: 1464.0.

Anna Lundvall - Ann Fagerberg

Anders Nordlund - Benny Blankner
Anders Wannstrom - Jeanette Wannstrom
Johnny Ramsten - Hans Jonsson

Renée Blixt - Gerd Holmedahl

Tord Lundin - Lars-Erik Tissiér

Krister Faltmyr - Monica Faltmyr

Johnny Pettersson - Merete Scheller
Anneli Backman - Lisbeth Eriksson

Vera Enbarr - Marianne Melchior Ericson
UIf Andersson - Niklas Broberg

Aapo Nieminen - Aarne Koivu

Otto Berntsson - Viveca Rappe

Goran Ahs - Sven-Olov Andersson
Marten Anteryd - Eva Anteryd
Sven Andersson - Thor Sagfors
Niclas Ornerdal - Mats Winges

Astrid Ekinge - Robert Ekinge
Gabriella Jonsson - Rolf Forsberg

Martin Hagman - Annika Kristoffersson
Rune Pettersson - Carola Vesterinen

Karl-Gustaf Larsson - Bo Sjoberg
Ragnhild Pettersson - Zelwi Vogeler

Odd Stokka - Lena Jensen Stokka
Hakan Danielsson - Jessica Danielsson

Gunbritt Ringvall - Birgitta Svensson
Filip Asplund Sivelind - Tony Hakansson
Christer Hellgvist - Marianne Hellgvist
Ingegerd Eriksson - Maj-Britt Granat

Linnar Holgersson - Ard Kant
Bengt Hilborn - Karin Brundell-Freij
Britt-Marie Ericsson - Kerstin Cederstrom

Aksel Wannstrém - Linus Wannstréom

Susanne Sjodin - Inga-Britt Hedstrom
Marie Andrén - Fredrik Hellkvist

Ulla Wikstrém - Jane Silvanius

Inger Gerle - Susann Mattsson
Magnus Persson - Allan Hagman
Sven Olof Svensson - Lars Andersson
Bjorn Melander - Valle Grivans

Alf-T Nilsson - Asa-Lena Stahl

Harriet Wiberg-Ohlson - Anna Idbohrn
Anna Skau - Catarina Skau Olsson
Tommy Jeppsson - Thomas Ehrstedt
Alf Kagstrom - Isabelle Kagstrom
Karl-Erik Nilsson - Hakan Carlestam

Tina Elfstedt - Monica Johanson
Erik Spangberg - Allan Oberg

Jens Priess - Jan-Inge Tuvesson
Ingrid Olsson - Lena Tuvesson
Birgitta Samuelsson - Sven Flink
Jonas Tjarnemo - Estrid Gustavsson
Anki Arvmyren - Anne Kleredal Olsson
Kjell Hakansson - Anita Lofgren
Irene Bostrom - Lena Hakansson
Agneta Moberg - Katarina Landstedt
Kjell Pettersson - Tomoko Hansen

Solveig Washer - Elisabeth Nordling

UIf Lindgren - Bengt Lauthers

Eric Bengtsson - Tommy Lundahl
Christer Bermark - Berit Bermark

Lena Lundqvist - Gun-Britt Rindstal
Nicklas Sivelind - Simon Bech

Eva Benckert - Marianne Primér

Per Jansson - Kent Backstrom

Britta Akerblom-Nilsson - Inga-Maj Askfelt
Anders Wilhelmsson - Harald Engvik
Lars Karlsson - Johnny Karlsson

Soren Andersson - Elisabeth Andersson

Plac Par Poang % Namn

1 607 2000.6 68.33

2 108 1890.4 64.56

3 475 1846.5 63.06

4 174 1842.8 62.94

5 271 1818.0 62.09 Knut Kiste - Tomas Ruth

6 407 17435 59.55

7 605 17315 59.14

8 302 1705.9 58.26

9 571 1705.6 58.25

10 603 1704.8 58.23

11 305 1698.5 58.01

12 307 16915 57.77

13 270 1688.4 57.67

14 371 1677.1 57.28

15 111 1677.1 57.28 Patrik Aman - Hilde Héili
16 410 1666.2 56.91

17 506 1664.1 56.83

18 172 1663.9 56.83

19 379 1659.0 56.66

20 378 1648.0 56.28 Jan Nyrén - Helena Nyrén
21 171 1635.9 55.87 Hanna Tuus - Matt Smith
22 507 1626.8 55.56 Maud Larsson - Annica Ek
23 577 1622.6 55.42

24 604 1617.1 55.23

25 280 1615.3 55.17 Lennart Rehle - Eva Zarins
26 510 1610.8 55.01

27 274 1602.4 54.73

28 408 1602.4 54.73 MiAndrén - Caroline Tesch
29 106 15945 54.46

30 306 1593.5 54.42 VanjaBoman - Ola Boman
31 673 1587.7 54.23

32 374 1579.6 53.95 Britt Larsson - Leif Larsson
33 273 1578.5 53.91

34 602 1577.8 53.89

35 304 1572.6 53.71 Georg Toth - Imre Keri

36 578 1572.4 53.70

37 404 15715 53.67

38 471 1568.7 53.58

39 676 1561.9 53.34

40 477 1558.6 53.23 Daniel Lundell - Sven Pars
41 473 1558.0 53.21

42 276 1557.9 53.21

43 103 1551.7 53.00

44 107 1549.9 52.93 Robert Ferrari - Mike Ash
45 406 1540.8 52.62

46 574 15285 52.20 Charlie Ratto - Eva Hylén
47 372 15179 51.84

48 202 1515.6 51.76

49 277 1515.0 51.74

50 401 1514.4 51.72

51 173 1511.1 51.61

52 101 15105 51.59

53 102 1509.1 51.54

54 377 1496.1 51.10

55 580 1495.4 51.07

56 209 1490.8 50.92

57 376 1481.4 50.59

58 170 1479.5 50.53

59 674 1477.4 50.46

60 505 1475.9 50.41 Asle Lutken - Hege Falster
61 680 1473.4 50.32

62 575 1457.1 49.76

63 208 1443.9 49.31

64 672 14435 49.30

65 606 1432.4 4892

66 509 14255 48.68

67 178 14255 48.68

68 177 14255 48.68

69 301 1422.8 48.59

70 576 1417.1 48.40

71 677 14145 4831

72 573 1410.6 48.18 Olle Backlund - Dilip Chawla
73 572 1409.0 48.12

74 476 14045 47.97

75 310 1398.5 47.76

76 375 13915 4752

77 671 1390.8 47.50

78 203 1390.5 47.49

79 272 1387.5 47.39

80 175 1380.5 47.15

81 608 1374.2 46.93

82 472 1373.3 46.90

83 110 1370.2 46.80

84 309 1366.8 46.68

85 409 1359.6 46.44

Bjorn Wenander - Ingrid Petersen

MID

83993
62343
15024
90802
+815
60183
60464
53615
11666
40243
3045
89266
+1061
78315
94001
4159
13755
6682
13085
89540
+1251
31539
44022
61056
6599
63904
3141
90168
12299
91364
60092
26991
18637
63940
78718
93504
65755
63830
50549
64599
21188
11443
94350
+1199
63971
79358
35255
78423
57671
39792
87044
57590
85208
17450
40996
82924
6314
33288
46221
+403
55302
140
35470
5895
15036
65741
2896
3733
35076
33198
1454
51798
16766
89486
64845
50938
25982
45887
22867
12635
27449
44865
24249
35254
4856

88969
63425
15011
85132
+816
81756
61213
53616
+1377
53413
17146
60084
+1062
6842
+1387
13771
93032
51742
84300
89541
+1259
34812
44023
13471
36267
63903
31366
80715
87463
49047
60091
26990
6676
63939
17037
27929
66711
63829
55671
63932
93057
5547
88304
+790
53111
45522
48560
65448
55188
44611
87038
4040
42325
19673
55866
21342
4074
41909
42323
83427
10270
90229
33922
64009
15839
61868
19349
83339
4924
80314
84545
26001
11622
32610
64315
45503
7974
87173
14791
11196
15376
+1155
20903
89773
12906

Klubb

Gévle BK - Skutskars BK
Orebridgen

Uppsalabridgen
Hallstahammars BK

Norge

Arvika BS - Billingsfors BS
Osthammars BK
Orebridgen

Malmé BK - Danmark
Orebridgen - Kumla BS
Sandvikens BK - Skutskéars BK
BK S:t Erik

Finland

Orust BK - Filbyter Bridge
Vanersborgs BS - Norge
Amals BS

Karlstads BK

BK Sang, Oxeldsund
Norrképingsbridgen - Falu BK
Orebridgen

England - Australien
Sandvikens BK

Motala Bridgeallians

Pri-Bri 1936 - ABB BK

BK S:t Erik

BK S:t Erik

Gévle BK - Skutskars BK
Norrorts Bridge - BK S:t Erik
Nora BK

Orebridgen

Osthammars BK

BK ESS-Iov

BK Bjorken

Lunds BK

BK S:t Erik

BK S:t Erik

LudvikaBygdens BK

BK S:t Erik

Gavle BK - Osthammars BK
BK Bjorken

Arvika BS

LUCK

Orebridgen - Kumla BS
Scotland

Uppsalabridgen

Orebridgen

Backe BK

Norrorts Bridge - BK S:t Erik
Sigtuna BS

BK S:t Erik

Arboga BK

Frévi BK

Orebridgen

BK Bjorken

Orebridgen

Kungshamns BK - Smedstadens BK
HO0rs BK

Sandvikens BK

Orebridgen

Norge - Prenumeranter
Karlstads BK - BK Opalen
Orebridgen - Nora BK
Munka Ljungby BS

Klippans BK - Munka Ljungby BS
Kopings BS - SEB Bridge
LUCK - BK S:t Erik

Sigtuna BS

Ystads BS - Tyresd BK
Orebridgen

BK ALERT

BK S:t Erik

BK Orjan - VBS Aros

BK S:t Erik

BK S:t Erik

Lunds BK

Orebridgen -
Valdemarsviks BK - Overums BK
Frolunda BS - BK S:t Erik
Sthims-Polisens BS - BK S:t Erik
Alnd BK

Héassleholms BK - Munka Ljungby BS
Kopings BS - Norge
Sandvikens BK

Backe BK

Onsdagsklubben - Frolunda BS
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86 502 1358.9 46.41 Camilla Jensen - Knud Jensen +1389 +1390 Danmark
87 601 1353.1 46.21 Ellis Wohlner - Gun Ekstrom 90611 82241 BK S:t Erik - Orebridgen
88 503 1351.4 46.15 Arnold Digre - Andreas Johansson +627 24913 Norge - Munka Ljungby BS
89 579 1348.1 46.04 Hakan Elensky - Berit Jonsson 42650 42639 Nora BK
90 501 1338.2 45.70 Klas Nilsson - Marita Nilsson 12950 16889 Solstabridgen - Hammard BK
91 205 1335.3 45.60 Hijordis Andersson - Birgitte Thellefsen 46845 39856 Lindesbergs BS
92 176 1332.1 45.50 Wilma Danielsson - Moa Svensson 66577 42507 Orebridgen - Bollnds BK
93 479 1330.4 45.44 Bo Ericson - Joakim Ericson 2962 26279 Gavle BK - Skutskéars BK
94 206 1326.2 45.29 Goran Johansson - Goran Ek 4038 65709 Orebridgen
95 403 1325.6 45.27 Kerstin de la Tajada - Lennart Andersson 4125 4045 Orebridgen
96 308 1325.1 45.26 Yvonne Flodgvist - Christina Torsslow 14805 18545 BK S:t Erik
97 105 1322.8 45.18 Stina Gottliebsson - Birgit Pettersson 53995 64081 Lindesbergs BS
98 678 1322.6 45.17 Kjell Gustavsson - Bo Petersson 88159 93909 Ingelstad BK - Vaxjobridgen
99 480 1319.6 45.07 Leif Erlandsson - Karin Erlandsson 45510 45509 Nora BK
100 278 1310.7 44.77 Hakan Gustafsson - Carina Ljung 14554 83553 Skovde BA
101 179 1306.0 44.60 Tobias Bern - Klara Gustafsson 66187 67625 Orebridgen
102 210 1296.3 44.27 AsaKarlsson - Astrid Tengelin 9769 64076 Hallefors BK
103 303 1288.0 43.99 Jarl Jonsson - Ann Johansson 32936 32933 Norrorts Bridge
104 675 1284.1 43.86 Torsten Andersson - Mats Olsson 39173 35447 PBF Uppsala - Uppsalabridgen
105 478 1282.1 43.79 Kerstin Karlstréom - Monika Borg 84774 41052 BK S:tErik
106 104 1280.2 43.72 Torild Hilmersson - Lisbeth Hilmersson 40989 40988 Orebridgen
107 204 1266.3 43.25 Astrid Suominen - Gun Forss 79477 86314 Sigtuna BS
108 207 1258.1 42.97 Margit Belenius - Sven Claesson 93605 83814 IK MAKKABI - Filbyter Bridge
109 275 1257.9 42.96 Johan Karlsson - Christina Oldin 60951 25880 Sala BS - Axbergs BK
110 211 1256.8 42.92 Eva Nilsson - Seija Karkkéainen 60259 61171 Karlstads BK
111 609 1250.6 42.71 Ingmarie Leinskdld - Ann-Margret Bokmark 32383 78984 Filbyter Bridge
112 109 1250.2 42.70 Christina Edvertz - Benny Wikstrom 60286 14431 Orebridgen - Axbergs BK
113 373 1242.8 42.44 Thomas Tillander - J6rgen Pedersen 48512 64550 Orebridgen
114 610 1226.6 41.89 Birgitta Kerstis - Jan Héléne 28264 56651 ABB BK
115 180 1212.9 41.43 Gun Gyldén - Gard Carlsson 30596 44601 Arboga BK - Kdpings BS
116 380 1210.0 41.32 Kerstin Demjan - Ingalill Johansson 22204 85205 Orebridgen
117 279 1206.6 41.21 Andrzej Tracewski - Kalevi Conrad 49836 40439 BK Sang, Oxeldsund - Bridgeklubben Karlskrona
118 402 1197.3 40.89 Karin Andersson - Lisa Nilsson 49977 20954 Bjarnums BK
119 405 1187.5 40.56 Dan Stenmark - Anders Vikdahl 22100 9537 StrAngnas BK Gripen
120 504 1177.5 40.21 Lennart Karlsson - Géran Lindén 2871 3974 Hallstahammars BK
121 474 1163.1 39.72 Hakan Hallin - Gunilla Hallin 32008 32007 Motala Bridgeallians
122 201 1153.7 39.40 Kati Sandstrom - Seppo Sauvola +1022 +1163 Finland
123 679 1151.1 39.31 Eva Wiklander - Helena Lindstrém 17165 28171 BK S:t Erik - Skutskérs BK
124 508 1090.5 37.24 Roger Hilmersson - Anita Bergstedt 42107 35005 Filbyter Bridge
1 473 Bésta kontrakt 2 &« D642 Bésta kontrakt 3 4843 Bésta kontrakt
Nord v 643 3¢ ND-1-100 Ost v EKD8 44 S =620 Syd v 875 34 S =140
Ingen + K10954 NS + K93 ov + E632
2975 & ¢ v & NT #92 & ¢ v & NT #ED4 & ¢ v & NT
4 86542 4 K9 N48655 498 4103 N 6 7 10107 410976 4Kn2 N86 9 88
v95 vKD108 S 48665 v532 v 1076 S 6 7 10107 vE v DKn92 S86 9 938
.- ¢ EDKn8 095778 ¢+ED76 ¢ 1084 O76 334 ¢ KKn10 ¢ D9754 O56 345
#Kn108432 &#KD6 V94677 #ED105 #K8743 V76334 #K10732 #98 V56345
4 EDKn10 4 EKKn75 » EKD5
v EKn72 v Kn94 v K10643
47632 ¢ Kn52 +8
&E #Kn6 #Kn65
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
274 207 54DV -4 &5 800 122.0 0.0|671 610 54D O-4 «4A 800 122.0 0.0|574 509 4¢DO-3 4A 800 122.0 0.0
171 110 44D O-3 &#A 500 116.0 6.0(102 179 44 S+1 7 650 112.0 10.0 ({204 279 4vDS= &2 590 119.0 3.0
203 278 44D Q-3 #A 500 116.0 6.0|203 278 44 S+1 v2 650 112.0 10.0|409 472 4vyDS= ¢J 590 119.0 3.0
280 201 44D Q-3 #A 500 116.0 6.0|372 371 44 S+1 49 650 112.0 10.0|103 179 4v S= 2 420 110.0 12.0
571 510 44D O-3 #A 500 116.0 6.0 (472 471 44 S+1 ¥5 650 112.0 10.0 (106 176 4v S= &2 420 110.0 12.0
676 605 5ND O-3 4A 500 116.0 6.0|475 408 44 S+1 v2 650 112.0 10.0|172 173 4v S= &3 420 110.0 12.0
271 210 5NDO-2 4A 300 108.0 14.0|477 406 44 S+1 ¢6 650 112.0 10.0|276 207 4v S= 2 420 110.0 12.0
410 473 64DV -2 v4 300 108.0 14.0 (571 510 44 S+1 2 650 112.0 10.0 (277 206 4v S= T 420 110.0 12.0
575 506 34D O-2 #A 300 108.0 14.0|573 508 44 S+1 v2 650 112.0 10.0|474 407 4v S= ¢T 420 110.0 12.0
174 107 54 O-4 &A 200 104.0 18.0|575 506 44 S+1 v2 650 112.0 10.0|475 406 4v S= &7 420 110.0 12.0
109 172 34 O-3 #A 150 98.0 24.0|171 110 3NN+1 ¢4 630 102.0 20.0 (680 602 34 V-4 ¢5 400 102.0 20.0
180 101 44 V-3 ¢4 150 98.0 24.0(109 172 44 S= v3 620 74.0 48.0(274 209 24 V-2 v3 200 98.0 24.0
276 205 5#V-3 ¥3 150 98.0 24.0(111 170 44 S= v5 620 74.0 48.0|473 408 2v S+3 #2 200 98.0 24.0
480 402 44 O-3 #A 150 98.0 24.0|174 107 44 S= 48 620 74.0 48.0|677 606 24 V-2 v5 200 98.0 24.0
573 508 34 O-3 #A 150 98.0 24.0(180 101 44 S= v2 620 74.0 48.0|272 211 2v S+2 4T 170 92.0 30.0
102 179 34 O-2 &A 100 77.0 45.0(209 272 44 S= 49 620 74.0 48.0|501 503 2v S+2 #2 170 92.0 30.0
105 176 2NO-2 «A 100 77.0 45.0|211 270 44 S= v2 620 74.0 48.0|504 579 3v S+1 &7 170 92.0 30.0
273 208 34 O-2 #A 100 77.0 45.0(271 210 44 S= v2 620 74.0 48.0|580 502 INN+2 &J 150 88.0 34.0
275 206 2NDO-1 T 100 77.0 45.0(273 208 44 S= 49 620 74.0 48.0(101 107 3v S= vA 140 76.0 46.0
279 202 34 O-2 v2 100 77.0 45.0|274 207 44 S= 49 620 740 48.0|170 171 2v S+1 &T 140 76.0 46.0
310 373 34 O-2 ¢2 100 77.0 45.0(276 205 44 S= 5 620 74.0 48.0|275 208 2v S+1 &7 140 76.0 46.0
376 307 3NDO-1 4Q 100 77.0 45.0(280 201 44 S= v2 620 74.0 48.0(303 378 3v S= 4T 140 76.0 46.0
380 302 3NO-2 v2 100 77.0 45.0|304 379 44 S= 49 620 74.0 48.0|373 308 3v S= T 140 76.0 46.0
405 478 34 O-2 #A 100 77.0 45.0(305 378 44 S= v2 620 740 48.0(379 302 24 S+1 vA 140 76.0 46.0
472 471 2y V-2 47 100 77.0 45.0 (375 308 44 S= 49 620 74.0 48.0|510 573 2v S+1 &7 140 76.0 46.0
474 409 44 O-2 #A 100 77.0 45.0|376 307 44 S= v2 620 74.0 48.0|572 571 2v S+1 4T 140 76.0 46.0
580 501 34 O-2 #A 100 77.0 45.0(377 306 44 S= +6 620 74.0 48.0|604 679 2v S+1 #2 140 76.0 46.0
604 677 24 V-2 v3 100 77.0 45.0 (405 478 44 S= v5 620 74.0 48.0|605 678 2v S+1 &6 140 76.0 46.0
673 608 34 O-2 A 100 77.0 45.0|476 407 44 S= &A 620 74.0 48.0|676 607 3v S= &2 140 76.0 46.0
675 606 34 O-2 #A 100 77.0 45.0(480 402 44 S= v2 620 740 48.0(175 108 INN+1 5 120 62.0 60.0
680 601 34 O-2 &A 100 77.0 45.0 (503 578 44 S= ¢+A 620 74.0 48.0(376 305 2NN = «9 120 62.0 60.0
104 177 3v O-1 A 50 50.0 72.0|504 577 44 S= v2 620 740 48.0|675 608 INN+1 ¢4 120 62.0 60.0
204 277 2NO-1 2 50 50.0 72.0(574 507 44 S= v2 620 74.0 48.0(374 307 24 S= vA 110 57.0 65.0
209 272 54 O-1 4A 50 50.0 72.0(576 505 44 S= 49 620 74.0 48.0 (375 306 24 S= vA 110 57.0 65.0
301 303 2N O-1 4A 50 50.0 72.0|579 502 44 S= &A 620 74.0 48.0|371 310 INN= +5 90 54.0 68.0
304 379 54 O-1 4A 50 50.0 72.0(603 678 44 S= 49 620 74.0 48.0(110 111 4v S-1 &2 -50 35.0 87.0
375 308 3BNO-1 «Q 50 50.0 72.0|679 602 44 S= v5 620 74.0 48.0(174 109 4v N-1 &9 -50 35.0 87.0
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476 407 34 O-1 o7 50 50.0 72.0|680 601 4 S= &5 620 74.0 48.0|180 102 4v S-1 T -50 35.0 87.0
477 406 2N O -1 oT 50 50.0 72.0|103 178 24 S+3 ¢7 200 41.0 81.0(205 278 2NN-1 %9 -50 35.0 87.0
509 572 54 O-1 4Q 50 50.0 72.0 (204 277 34 S+2 +6 200 410 81.0(210 273 INN-1 ¢4 -50 35.0 87.0
603 678 24 O-1 #A 50 50.0 72.0|410 473 34 S+2 &9 200 41.0 81.0(280 202 3v S-1 &5 -50 35.0 87.0
671 610 54 O-1 YA 50 50.0 72.0|474 409 1 S+4 &9 200 41.0 81.0(304 377 3vS-1 +¢K -50 35.0 87.0
103 178 24 S-1 v5 -50 37.0 85.0(675 606 24 S+3 ¥5 200 41.0 81.0(309 372 4v S-1 T -50 35.0 87.0
372 371 INN-1 +Q -50 37.0 85.0(676 605 24 S+3 ¥5 200 410 81.0(380 301 3v S-1 &2 -50 35.0 87.0
173 108 3¢ N-2 &K -100 33.0 89.0|173 108 2v N+2 &K 170 23.0 99.0|403 478 4v S-1 &T -50 35.0 87.0
401 403 4¢DN-1 &K -100 33.0 89.0|175 106 34 S+1 49 170 23.0 99.0|471 410 3v S-1 &7 -50 35.0 87.0
175 106 3# O = +3 -110 30.0 92.0|275 206 24 S+2 &A 170 23.0 99.0|476 405 4y S-1 &7 -50 35.0 87.0
111 170 2NO = «Q -120 27.0 95.0|279 202 2v S+2 &3 170 23.0 99.0479 402 4v S-1 &7 -50 35.0 87.0
377 306 2N O = s] -120  27.0 95.0|301 303 14 S+3 v2 170 23.0 99.0|505 578 2v S-1 T -50 35.0 87.0
404 479 34 O+1 o7 -130  24.0 98.0|310 373 24 S+2 48 170 23.0 99.0|575 508 4y S-1 &7 -50 35.0 87.0
211 270 34 O= T -140 22.0 100.0 |401 403 34 S+1 «9 170 23.0 99.0|577 506 34 S-1 ¥vA -50 35.0 87.0
374 309 34 S- v9 -150 14.0 108.0|509 572 14 N+3 49 170 23.0 99.0|610 673 4v S-1 &T -50 35.0 87.0
475 408 2N O +1 A -150 14.0 108.0 |604 677 24 S+2 ¢A 170 23.0 99.0|674 609 4y S-1 T -50 35.0 87.0
504 577 2N O +1 4A -150 14.0 108.0|609 672 34 S+1 49 170 23.0 99.0|104 178 3v S-2 ¢J -100  11.0 111.0
576 505 2N O +1 oT -150 14.0 108.0|673 608 34 S+1 &A 170 23.0 99.0|105 177 4v S-2 T -100 11.0 111.0
579 502 2N O +1 T -150 14.0 108.0|674 607 34 S+1 2 170 23.0 99.0|404 477 3NN-2 ¢4 -100  11.0 111.0
609 672 2N O +1 oT -150 14.0 108.0|374 309 1e S+2 &5 140 7.0 115.0 (480 401 4v S-2 &7 -100  11.0 111.0
679 602 2N O +1 oT -150 14.0 108.0|380 302 24 S+1 &A 140 7.0 115.0|601 603 3NN-2 ¢4 -100 11.0 111.0
674 607 34 S-4 &2 -200 6.0 116.0 (404 479 24 S+1 v2 140 7.0 115.0 672 671 4v S-2 T -100  11.0 111.0
305 378 3NO = +3 -400 4.0 118.0 (580 501 2y N+1 &T 140 7.0 115.0 (201 203 4v S-3 T -150 2.0 120.0
503 578 3NO+1 2 -430 2.0 120.0 (104 177 44 S-1 &5 -100 1.0 121.0|270 271 4v S-3 ¢J -150 2.0 120.0
574 507 3NDO+1 ¢2 -650 0.0 122.0 (105 176 54 S-1 #A -100 1.0 121.0|576 507 4v S-3 &2 -150 2.0 120.0
4 +Kn4 Basta kontrakt 5 #1065 Basta kontrakt 6 443 Basta kontrakt
Vast v D109872 44 V D -2 500 Nord v4 5v O =-450 Ost v 875 54 O =-650
Alla ¢ E7 NS +103 ov + D64
#953 & ¢ v & NT #DKn108632 & ¢ v & NT &#EDKN53 & ¢ v & NT
4E1083 K952 N 8 4 105 9 4 Kn9843 & ED7 N95111 4 E92 & KD865 N71212
vKn vK S 8 4 105 9 v D65 vEKKn1032 S 9 5111 vE106 ¥ Kn932 S71212
¢KKn32 4D109654 O 4 9 3 8 4 ¢ E72 ¢ Kn84 O4 7 11109 ¢ K9753 ¢ EKnl10 O 6 1111118
#DKn42 #76 V49 384 &E9 &7 vV 4 7 109 9 #107 &9 V 6 1111118
D76 & K2 & Knl107
v E6543 v 987 v KD4
+8 + KD965 +82
&EK108 K54 »K8642
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
277 206 44DV -3 ¢A 800 121.0 1.0(273 270 6y O-1 K 50 120.0 2.0|278 207 44 O-2 &2 200 122.0 0.0
473 408 44DV -3 T 800 121.0 1.0|374 373 4v O-1 +6 50 120.0 2.0|406 402 2NV-1 ¢5 100 120.0 2.0
574 509 4vyDN= ¢4 790 118.0 4.0(576 509 6v O-1 +¢K 50 120.0 2.0|378 309 Pass 116.0 6.0
174 109 4y N+1 &6 650 106.0 16.0 (478 409 3v O+2 +¢K -200 114.0 8.0 1476 471 Pass 116.0 6.0
275 208 4v S+1 &A 650 106.0 16.0 (506 579 3v O+2 ¢K -200 114.0 8.0 |571 574 Pass 116.0 6.0
280 202 4vy N+1 ¢6 650 106.0 16.0 (675 610 34 O+2 ¢7 -200 114.0 8.0|105 178 44 S-2 &A -100 111.0 11.0
309 372 4y N+1 42 650 106.0 16.0 (280 203 3v O+3 v7 -230 110.0 12.0(173 170 4 N-2 +¢A -100 111.0 11.0
403 478 4v S+1 ¢2 650 106.0 16.0 ({680 603 3NV = *Q -400 108.0 14.0|101 109 5#S-3 ¥vA -150 107.0 15.0
404 477 4v N+1 &7 650 106.0 16.0 ({101 109 4v O= +K -420 99.0 23.0 (372 375 4¢ V+1 &A -150 107.0 15.0
505 578 4vy N+1 &7 650 106.0 16.0|271 272 4v O = v9 -420 99.0 23.0 (106 177 34 O+1 ¢K -170  99.0 23.0
510 573 4vy N+1 &K 650 106.0 16.0 |406 402 4y O = +9 420 99.0 23.0(379 308 34 O+1 &2 -170  99.0 23.0
577 506 4v S+1 &A 650 106.0 16.0 (474 473 44 V= +3 -420 99.0 23.0 (407 401 34 O+1 ¢K -170  99.0 23.0
674 609 4v S+1 &A 650 106.0 16.0|476 471 4v O = v9 -420 99.0 23.0 (479 408 34 O+1 &3 -170  99.0 23.0
680 602 4y N+1 &6 650 106.0 16.0|571 574 49 O = +K 420 99.0 23.0 (505 501 34 O+1 &) -170  99.0 23.0
170 171 49y N= &7 620 81.0 41.0|605 601 44 V= *T -420  99.0 23.0|605 601 34 O+1 &2 -170  99.0 23.0
205 278 4y S= +3 620 81.0 41.0|673 672 4v O = +5 420 99.0 23.0(202 204 2NS-4 +3 -200 87.0 35.0
272 211 4v N= &7 620 81.0 41.0|105 178 4y O+1 ¢K -450 73.0 49.0 (374 373 34 O+2 &K -200 87.0 35.0
274 209 4y N= 5 620 81.0 41.0|106 177 4y O+1 ¢K -450 73.0 49.0 (576 509 34 O+2 48 -200 87.0 35.0
375 306 4y S= +K 620 81.0 41.0(107 176 4y O+1 #4 -450 73.0 49.0 (676 609 34 O+2 48 -200 87.0 35.0
409 472 4v N= &7 620 81.0 41.0|276 209 4v O+1 ¢K -450 73.0 49.0 (677 608 34 O+2 +8 -200 87.0 35.0
475 406 4y N= &7 620 81.0 41.0|278 207 4v O+1 ¢K -450 73.0 49.0 (680 603 24 O+3 +8 -200 87.0 35.0
476 405 4v S= &7 620 81.0 41.0|376 371 4v O+1 ¢K -450 73.0 49.0(102 108 24 O+4 ¢2 -230  75.0 47.0
479 402 4y N= &7 620 81.0 41.0|377 310 4y O+1 K -450 73.0 49.0|205 201 34 O+3 +¢8 -230  75.0 47.0
501 503 4v S= +3 620 81.0 41.0|378 309 4y O+1 ¢K -450 73.0 49.0|273 270 34 O+3 +¢8 -230  75.0 47.0
572 571 4v S= ¢2 620 81.0 41.0|379 308 4y O+1 ¢K -450 73.0 49.0|280 203 24 O+4 &7 -230  75.0 47.0
575 508 4y S= ¢+9 620 81.0 41.0|505 501 4y O+1 ¢K -450 73.0 49.0 (577 508 34 O+3 +8 -230  75.0 47.0
580 502 4v S= A 620 81.0 41.0|573 572 4y O+1 ¢K -450 73.0 49.0 (580 503 24 O+4 +8 -230  75.0 47.0
601 603 4y N = &6 620 81.0 41.0(577 508 4v O+1 K -450 73.0 49.0 (107 176 44 O= a7 -620 58.0 64.0
379 302 5¢DO-2 A 500 65.0 57.0|578 507 4v O+1 9 -450 73.0 49.0 (175 110 44 O= a3 -620 58.0 64.0
480 401 5¢DV-2 v7 500 65.0 57.0|580 503 44 O+1 ¢K -450 73.0 49.0 (180 103 44 O = &2 -620 58.0 64.0
371 310 54 O-4 &A 400 62.0 60.0|606 679 4y O+1 ¢K -450 73.0 49.0 (306 302 44 O= &2 -620 58.0 64.0
610 673 2v S+4 #2 230 60.0 62.0|671 674 4v O+1 ¢K -450 73.0 49.0 (377 310 44 O= &2 -620 58.0 64.0
103 179 44 O-2 vA 200 46.0 76.0 (676 609 44 V+1 v4 -450 73.0 49.0 (380 304 44 O= &2 -620 58.0 64.0
105 177 44 O-2 #A 200 46.0 76.0 (678 607 4v O+1 ¢K -450 73.0 49.0 (403 405 4v O= &4 -620 58.0 64.0
172 173 44 O-2 &#A 200 46.0 76.0 (104 179 4v O+2 &4 -480 28.0 94.0 (472 475 44 O= &2 -620 58.0 64.0
210 273 3vy N+2 +5 200 46.0 76.0 (111 174 4v O+2 &K -480 28.0 94.0 (480 404 44 O= vK -620 58.0 64.0
270 271 44DO-1 #A 200 46.0 76.0|171 172 4v O+2 &K -480 28.0 94.0 (578 507 44 O = &6 -620 58.0 64.0
304 377 44 O-2 ¢8 200 46.0 76.0 (173 170 4v O+2 w7 -480 28.0 94.0 (602 604 44 O= &K -620 58.0 64.0
373 308 5¢ V-2 v2 200 46.0 76.0 (175 110 4v O+2 +K -480 28.0 94.0|104 179 44 O+1 v4 -650 38.0 84.0
374 307 44 V-2 T 200 46.0 76.0(180 103 5v O+1 &K -480 28.0 94.0|111 174 44 V+1 8 -650 38.0 84.0
376 305 44 V-2 ¢A 200 46.0 76.0 (202 204 4v O+2 +K -480 28.0 94.0(171 172 44 O+1 vK -650 38.0 84.0
474 407 44 V-2 vQ 200 46.0 76.0 (205 201 5v O+1 &K -480 28.0 94.0(271 272 44 O+1 +38 -650 38.0 84.0
576 507 34 O-2 ¢8 200 46.0 76.0|206 279 4v O+2 +K -480 28.0 94.0|277 208 44 O+1 v4 -650 38.0 84.0
604 679 46 V-2 v7 200 46.0 76.0 (211 274 4v O+2 ¥9 -480 28.0 94.0|307 301 44 O+1 ¢8 -650 38.0 84.0
605 678 3y N+2 42 200 46.0 76.0 (275 210 4v O+2 w7 -480 28.0 94.0 (478 409 44 O+1 ¢K -650 38.0 84.0
110 111 3vy N+1 &7 170 28.0 94.0|277 208 4v O+2 +9 -480 28.0 94.0 (506 579 44 O+1 ¢vK -650 38.0 84.0
204 279 2v N+2 &6 170 28.0 94.0|303 305 4v O+2 #4 -480 28.0 94.0 (573 572 44 O+1 +8 -650 38.0 84.0
675 608 3y N+1 ¢5 170 28.0 94.0|306 302 4y O+2 %4 -480 28.0 94.0 (206 279 44 O+2 +K -680 17.0 105.
676 607 3y N+1 5 170 28.0 94.0|307 301 4y O+2 ¢K -480 28.0 94.0 (275 210 44 O+2 48 -680 17.0 105.0
677 606 3vy N+1 &6 170 28.0 94.0|372 375 4v O+2 #5 -480 28.0 94.0 (276 209 44 O+2 ¢K -680 17.0 105.0
104 178 2vy N+1 T 140 22.0 100.0|380 304 4y O+2 %4 -480 28.0 94.0 (303 305 44 O+2 +8 -680 17.0 105.0
101 107 34 V-1 +¢Q 100 18.0 104.0 |403 405 4y O+2 v9 -480 28.0 94.0 (474 473 44 O+2 +8 -680 17.0 105.0
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106 176 34 V-1 7 100 18.0 104.0 |407 401 4y O +2 %4 -480 28.0 94.0 (477 410 44 O+2 48 -680 17.0 105.0
276 207 4¢ V-1 4J 100 18.0 104.0 (472 475 4y O+2 +K -480 28.0 94.0|502 504 44 O+2 &2 -680 17.0 105.0
175 108 2¢ O = &K -90 14.0 108.0 |477 410 4v O+2 v7 -480 28.0 94.0 (575 510 4v O+2 48 -680 17.0 105.0
380 301 24 V= ¢A -110  10.0 112.0 (479 408 4v O+2 +K -480 28.0 94.0 (606 679 44 O+2 48 -680 17.0 105.0
471 410 24 V= *A -110  10.0 112.0|480 404 4y O+2 &4 -480 28.0 94.0|671 674 44 O+2 +8 -680 17.0 105.0
504 579 24 O= +8 -110  10.0 112.0 (502 504 4v O +2 &4 -480 28.0 94.0 (673 672 44 O+2 48 -680 17.0 105.0
303 378 24 O+1 #A -140 5.0 117.0 575 510 4v O+2 +8 -480 28.0 94.0|678 607 44 O+2 &7 -680 17.0 105.0
672 671 34 O= +8 -140 5.0 117.0 (602 604 5v O+1 #K -480 28.0 94.0 (211 274 54D N-4 &K -800 3.0 119.0
201 203 5¢vDN-1 &7 -200 2.0 120.0 [677 608 4y O+2 K 480 28.0 94.0|376 371 54D S-4 &T -800 3.0 119.0
180 102 44D O= 3 -790 0.0 122.0 (102 108 6¥v O = &4 -980 0.0 122.0 (675 610 64 V= v4 -1430 0.0 122.0
7 410 Basta kontrakt 8 10853 Basta kontrakt 9 « EKD1087 Basta kontrakt
Syd v K109742 36 V =-140 Vast v 8752 36 V =-140 Nord vE7 6NT N =990
Alla + 1074 Ingen ¢ E4 ov + D10
&ED4 & ¢ v & NT &ED9 & ¢ v & NT K105 & ¢ v & NT
4 E6 & KD9432 N6 49 4 4 4 EDKn2 #K94 N6 4444 4953 462 N 9 10101212
v E86 v5 S6 49 44 v KD v Knl1063 S6 4444 v 432 v KDKn6 S99 9 1212
+ ED982 ¢ Kn65 O7 940938 + Kn75 + KD108 O7 98938 ¢ 64 ¢ KKn732 043311
&#Kn96  #852 V794938 #K762 &Kn4d V79898 #D9432 %87 V43311
& Kn875 476 & Kn4
v DKn3 vE9%4 v 10985
+ K3 49632 + E985
#K1073 #10853 &EKnN6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
203 205 44DO-3 vQ 800 122.0 0.0|102 110 3NS+2 43 460 122.0 0.0|675 674 6N S= &2 990 122.0 0.0
376 309 2NV-3 ¥4 300 119.0 3.0|674 673 3NS= 5 400 120.0 2.0|107 178 3NS+3 &3 490 118.0 4.0
577 510 3NV-3 ¥4 300 119.0 3.0|107 177 3NV-2 7 100 117.0 5.0|275 272 3NS+3 &2 490 118.0 4.0
373 372 44 O-2 7 200 113.0 9.0|402 404 4v V-2 ¢A 100 117.0 5.0|575 574 3NS+3 &5 490 118.0 4.0
503 505 44 O-2 vQ 200 113.0 9.0|180 104 3NV-1 &9 50 113.0 9.0|175 172 44 N+2 vK 480 107.0 15.0
506 502 44 O-2 vQ 200 113.0 9.0 471 474 3NV-1 &9 50 113.0 9.0|280 205 44 N+2 &8 480 107.0 15.0
603 605 44 O-2 vQ 200 113.0 9.0(108 176 2v V= *A -110 110.0 12.0|305 307 44 N+2 vK 480 107.0 15.0
103 109 2y N+1 «J 140 104.0 18.0 (103 109 24 V+1 ¢A -140 108.0 14.0|378 373 44 N+2 vK 480 107.0 15.0
107 177 3v S= oA 140 104.0 18.0(375 310 INO+3 v4 -180 106.0 16.0|379 372 44 N+2 vK 480 107.0 15.0
579 508 3v N= 4K 140 104.0 18.0|105 179 3NV = a5 -400 77.0 45.01408 404 44 N+2 K 480 107.0 15.0
606 602 3v N= K 140 104.0 18.0|170 175 3NV = v8 -400 77.0 45.0|479 472 44 N+2 vK 480 107.0 15.0
607 601 2y N+1 ¢J 140 104.0 18.0|174 171 3NV= &3 -400 77.0 45.0|678 671 44 N+2 vK 480 107.0 15.0
101 111 44 O-1 vQ 100 85.0 37.0|203 205 3NV = v8 -400 77.0 45.0|106 179 3NN+2 ¢K 460 97.0 25.0
108 176 44 O-1 v3 100 85.0 37.0|206 202 3N O = &3 -400 77.0 45.0|504 506 3NS+2 &3 460 97.0 25.0
270 275 44 O-1 vQ 100 85.0 37.0|270 275 3NV = A -400 77.0 45.0|103 111 44 N+1 &8 450 67.0 55.0
274 271 34 O-1 +vQ 100 85.0 37.0|274 271 3NV = v5 -400 77.0 45.0|104 110 44 N+1 K 450 67.0 55.0
280 204 44 V-1 vQ 100 85.0 37.0|276 211 3NV= v5 -400 77.0 45.0|171 101 44 N+1 K 450 67.0 55.0
371 374 34 O-1 vQ 100 85.0 37.0|277 210 3NV = v8 -400 77.0 45.0|173 174 44 N+1 vK 450 67.0 55.0
378 307 34 O-1 3 100 85.0 37.0|278 209 3NO = v8 -400 77.0 45.0|201 209 44 N+1 vK 450 67.0 55.0
380 303 44 V-1 #4 100 85.0 37.0|279 208 3NV = v2 -400 77.0 45.0|204 206 44 N+1 vK 450 67.0 55.0
402 404 34 O-1 vQ 100 85.0 37.0|280 204 3NO= &3 -400 77.0 45.0|271 276 44 N+1 vK 450 67.0 55.0
471 474 44 V-1 &4 100 85.0 37.0(306 379 3NV= &9 -400 77.0 45.0|273 274 44 N+1 vK 450 67.0 55.0
507 501 44 O-1 ¥3 100 85.0 37.0|371 374 3NV= v7 -400 77.0 45.0|277 270 44 N+1 vK 450 67.0 55.0
578 509 34 O-1 ¥3 100 85.0 37.0|376 309 3NV= v3 -400 77.0 45.0|278 211 44 N+1 vK 450 67.0 55.0
674 673 3¢ O-1 &T 100 85.0 37.0|380 303 3NV= *A -400 77.0 45.0|279 210 44 N+1 vK 450 67.0 55.0
680 604 34 O-1 vQ 100 85.0 37.0|473 472 3NV = v2 -400 77.0 45.0|374 377 44 N+1 vK 450 67.0 55.0
377 308 4y N-1 &K -100  70.0 52.0(475 410 3NV = v7 -400 77.0 45.0|376 375 44 N+1 vK 450 67.0 55.0
106 178 24 V= v9 -110 63.0 59.0 476 409 3NV = v8 -400 77.0 45.0|405 407 44 N+1 &8 450 67.0 55.0
180 104 24 V= &4 -110 63.0 59.0 (480 403 3NV = v5 -400 77.0 45.0|409 403 44 N+1 vK 450 67.0 55.0
302 304 24 V= v7 -110  63.0 59.0 (506 502 3N O = &5 -400 77.0 45.0|476 475 44 S+1 vK 450 67.0 55.0
476 409 24 O = vQ -110 63.0 59.0|507 501 3NO= &5 -400 77.0 45.0|478 473 44 N+1 vK 450 67.0 55.0
572 575 24 V= T -110 63.0 59.0 574 573 3NV= &9 -400 77.0 45.0|480 406 44 N+1 vK 450 67.0 55.0
677 610 24 O = vQ -110 63.0 59.0|580 504 3NV= &9 -400 77.0 45.0|501 509 44 N+1 vK 450 67.0 55.0
174 171 24 V+1 w7 -140 45.0 77.0|607 601 3NV = v5 -400 77.0 45.0|508 502 44 N+1 vK 450 67.0 55.0
272 273 24 V+1 v4 -140 450 77.0|676 671 3NV = a5 -400 77.0 45.0|573 576 44 N+1 vK 450 67.0 55.0
277 210 34 V= &4 -140 45.0 77.0|678 609 3NV = a3 -400 77.0 45.0|578 571 44 N+1 vK 450 67.0 55.0
278 209 34 O = v9 -140 45.0 77.0|679 608 3NV = v5 -400 77.0 45.0|580 505 44 N+1 vK 450 67.0 55.0
306 379 24 V+1 &4 -140 45.0 77.0 (172 173 44 V= A -420 48.0 74.0|601 609 44 N+1 vJ 450 67.0 55.0
406 479 24 O+1 +3 -140 450 77.0|101 111 3NO+1 ¥5 -430 25.0 97.0|604 606 44 N+1 vK 450 67.0 55.0
473 472 34 O = vQ -140 450 77.0|106 178 3NV +1 ¢8 -430 25.0 97.0|607 603 44 N+1 vK 450 67.0 55.0
480 403 24 V+1 94 -140 45.0 77.0(207 201 3NV +1 ¥5 -430 25.0 97.0|673 676 44 N+1 vK 450 67.0 55.0
574 573 24 O+1 vQ -140 45.0 77.0|272 273 3NO+1 &5 -430 25.0 97.0|677 672 44 N+1 vK 450 67.0 55.0
576 571 34 O= vQ -140 45.0 77.0|302 304 3NV+1 w7 -430 25.0 97.0|108 177 44 N= vK 420 28.0 94.0
676 671 24 O+1 vQ -140 450 77.0|305 301 3NV +1 ¥5 -430 25.0 97.0|180 105 44 N= vK 420 28.0 94.0
678 609 34 O= vQ -140 45.0 77.0|377 308 3NV +1 &5 -430 25.0 97.0|208 202 44 N= vyK 420 28.0 94.0
102 110 34 O+1 ¢Q -170  28.0 94.0|378 307 3NV +1 ¥5 -430 25.0 97.0|301 371 44 N= vQ 420 28.0 94.0
279 208 34 O+1 vJ -170  28.0 94.0 (405 401 3NV +1l +A -430 25.0 97.0|302 310 44 N= vyK 420 28.0 94.0
375 310 24 V+2 9T -170 28.0 94.0|406 479 3NO+1 3 -430 25.0 97.0|402 410 4e N= vyK 420 28.0 94.0
475 410 24 V+2 v5 -170  28.0 94.0|477 408 3NV +1 &5 -430 25.0 97.0|507 503 44 N= vK 420 28.0 94.0
580 504 24 O+2 ¢K -170 28.0 94.0|478 407 3NV +1 ¢8 -430 25.0 97.0|577 572 44 N= vK 420 28.0 94.0
105 179 34 O+2 vQ -200  19.0 103.0|503 505 3NV +1 ¥5 -430 25.0 97.0|608 602 44 N= vyK 420 28.0 94.0
172 173 24 V+3 T -200  19.0 103.0|572 575 3NV +1 +8 -430 25.0 97.0|679 610 44 N= vK 420 28.0 94.0
276 211 34 V+2 &T -200  19.0 103.0|577 510 3NV +1 ¥5 -430 25.0 97.0|680 605 44 N= vyK 420 28.0 94.0
672 675 24 O+3 o7 -200  19.0 103.0|578 509 3NV +1 ¥5 -430 25.0 97.0|102 170 14 N+5 vK 230 16.0 106.0
206 202 44 V= vT -620 12.0 110.0|579 508 3NV +1 ¢8 -430 25.0 97.0|109 176 24 N+3 &8 200 12.0 110.0
207 201 4e V= v2 -620 12.0 110.0|603 605 3NV +1 43 -430 25.0 97.0|207 203 24 N+3 vK 200 12.0 110.0
305 301 44 V= *4 -620 12.0 110.0 (606 602 3NV +1 +¢A -430 25.0 97.0|474 477 24 N+3 vK 200 12.0 110.0
170 175 44 O+1 ¢Q -650 6.0 116.0 (672 675 3NV +1 &5 -430 25.0 97.0|308 304 24 N+2 ¢K 170 4.0 118.0
405 401 44 O+1 ¢K -650 6.0 116.0 (677 610 3NV +1 8 -430 25.0 97.0|309 303 34 N+1 &8 170 4.0 118.0
477 408 44 O+1 vQ -650 6.0 116.0 (680 604 3NV +1 v5 -430 25.0 97.0|380 306 24 N+2 ¢J 170 4.0 118.0
478 407 44 O+2 vQ -680 2.0 120.0 (373 372 3NV +2 «3 -460 1.0 121.0|401 471 24 N+2 7 170 4.0 118.0
679 608 44D O +1 vQ -990 0.0 122.0|576 571 3NV +2 #2 -460 1.0 121.0|579 510 34 N+1 K 170 4.0 118.0

Svenska Bridgeforbundet, Brons 25 Hcp 2019-08-02, sida 4 av 9




10 4 KD107432 Basta kontrakt 11 » E86 Basta kontrakt 12 4 E75 Basta kontrakt
Ost vKn 34 S =140 Syd vED9743 5¢ VD -2300 Vast v KD9 54 N =650
Alla + Kn984 Ingen +83 NS + K84
*7 & ¢ v & NT »K8 & ¢ v & NT #KKn92 & ¢ v & NT
498 465 N2 3393 «Knl03 4 D975 N9 40946 » 832 10 N8 6 6 1110
vD6 v K9872 S23393 vKn1085 ¢2 S 9 4 104 7 vEKn743 v1062 S 86 6 1110
¢ K7 ¢ ED532 0989 45 ¢ EKn7 ¢D109654 0O 2 9 2 6 2 ¢ Kn1065 ¢ E973 0476 22
#EKDKN986 10 V98945 *E62 *43 V29362 *3 «D10874 V57622
& EKn 4 K42 » KDKn964
vE10543 v K6 v 85
+ 106 ¢+ K2 ¢+ D2
#5432 #DKn10975 *E65
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
678 671 24DN+1 T 870 122.0 0.0|205 207 4vDN= v2 590 122.0 0.0|509 503 5¢DV-4 «A 800 122.0 0.0
302 310 4aDN= &T 790 120.0 2.0|379 310 4v N+2 v2 480 120.0 2.0|601 671 44 N+2 T 680 120.0 2.0
280 205 44 N= &T 620 118.0 4.0|172 102 4v N+1 &5 450 116.0 6.0|209 203 3NN+2 v2 660 118.0 4.0
106 179 3NV-5 &K 500 111.0 11.0|201 211 4v N+1 &7 450 116.0 6.0|101 173 44 S+1 &3 650 73.0 49.0
208 202 54DV -2 4K 500 111.0 11.0|208 204 4v N+1 45 450 116.0 6.0|104 170 44 N+1 T 650 73.0 49.0
308 304 54DV-2 vJ 500 111.0 11.0|479 410 3NS+1 «J 430 112.0 10.0|107 179 44 S+1 &3 650 73.0 49.0
379 372 4vyDO-2 4A 500 111.0 11.0|104 170 4v N= «Q 420 92.0 30.0(108 178 44 N+1 &#T 650 73.0 49.0
409 403 4vyDO-2 4A 500 111.0 11.0|105 111 4v N= v2 420 92.0 30.0(109 177 44 S+1 #3 650 73.0 49.0
601 609 54DV-2 vJ 500 111.0 11.0|110 176 4v N= &7 420 92.0 30.0(110 176 44 N+1 #4 650 73.0 49.0
474 477 3NV-4 «K 400 104.0 18.0|174 175 4v N= &7 420 92.0 30.0(172 102 44 N+1 +A 650 73.0 49.0
102 170 54 V-2 vJ 200 95.0 27.0(202 210 4v N= &7 420 92.0 30.0(174 175 54 N= #4 650 73.0 49.0
104 110 5¢ O-2 «A 200 95.0 27.0(272 277 4v N= 45 420 92.0 30.0(180 106 44 S+1 <vA 650 73.0 49.0
273 274 54 V-2 vJ 200 95.0 27.0(307 303 4y N= &7 420 92.0 30.0(201 211 44 N+1 ¥2 650 73.0 49.0
279 210 5«4 V-2 vJ 200 95.0 27.0(404 406 4v N= &7 420 92.0 30.0(202 210 44 N+1 #4 650 73.0 49.0
309 303 5#V-2 vJ 200 95.0 27.0(408 402 4v N= &5 420 92.0 30.0(205 207 44 N+1 v2 650 73.0 49.0
507 503 5« V-2 vJ 200 95.0 27.0(473 476 4v N=  #4 420 92.0 30.0(208 204 54 N= 3 650 73.0 49.0
578 571 4v O-2 «A 200 95.0 27.0 (475 474 4v N= 45 420 92.0 30.0(274 275 44 S+1 v2 650 73.0 49.0
679 610 54 V-2 vJ 200 95.0 27.0(480 405 4v N= &5 420 92.0 30.0(276 273 4v N+1 #4 650 73.0 49.0
204 206 34 N= &T 140 81.0 41.0(502 510 4v N= 9 420 92.0 30.0(278 271 44 N+1 v2 650 73.0 49.0
376 375 34 N= &T 140 81.0 41.0|505 507 4v N= &7 420 92.0 30.0(301 309 44 N+1 «T 650 73.0 49.0
401 471 34 N= &T 140 81.0 41.0|508 504 4v N= &5 420 92.0 30.0(304 306 54 N= #8 650 73.0 49.0
476 475 34 N= &T 140 81.0 41.0(576 575 4v N= 9 420 92.0 30.0(307 303 44 S+1 #3 650 73.0 49.0
577 572 34 N= &T 140 81.0 41.0(601 671 4v N= &7 420 92.0 30.0 (308 302 44 N+1 +A 650 73.0 49.0
677 672 34 N= T 140 81.0 41.0(674 677 4v N= &5 420 92.0 30.0(375 374 44 S+1 vA 650 73.0 49.0
107 178 4v O-1 «A 100 58.0 64.0(678 673 4v N= +6 420 92.0 30.0 (377 372 44 N+1 &7 650 73.0 49.0
108 177 5#V-1 vJ 100 58.0 64.0(209 203 4NV-8 #K 400 68.0 54.0(378 371 44 N+1 v6 650 73.0 49.0
173 174 49 O-1 «A 100 58.0 64.0(276 273 3NS= «J 400 68.0 54.0(379 310 44 N+1 ¥5 650 73.0 49.0
207 203 54 V-1 vJ 100 58.0 64.0(304 306 3NS= ¢7 400 68.0 54.0 (401 409 44 N+1 &T 650 73.0 49.0
275 272 4+ V-1 4K 100 58.0 64.0(377 372 5# S = ¢A 400 68.0 54.0 (407 403 44 N+1 &7 650 73.0 49.0
278 211 4+ V-1 vJ 100 58.0 64.0(477 472 3NS= «J 400 68.0 54.0 (408 402 44 N+1 +A 650 73.0 49.0
301 371 49y O-1 «A 100 58.0 64.0(602 610 2v N+2 #4 170 60.0 62.0 (473 476 44 S+1 #3 650 73.0 49.0
305 307 4+ V-1 &K 100 58.0 64.0(676 675 3v N+1 47 170 60.0 62.0 (475 474 44 N+1 #8 650 73.0 49.0
378 373 44 V-1 4K 100 58.0 64.0(680 606 2v N+2 5 170 60.0 62.0 (477 472 44 N+1 92 650 73.0 49.0
402 410 4v O-1 «A 100 58.0 64.0(108 178 2v N+1 T 140 54.0 68.0(478 471 44 N+1 7 650 73.0 49.0
408 404 4v O-1 +A 100 58.0 64.0(373 376 2v N+1 ¢2 140 54.0 68.0(501 571 54 N= v2 650 73.0 49.0
480 406 4+ V-1 vJ 100 58.0 64.0(401 409 3v N= +6 140 54.0 68.0(502 510 44 S+1 #3 650 73.0 49.0
501 509 4¢ O-1 <vA 100 58.0 64.0(107 179 4¢DO-1 vK 100 50.0 72.0 (505 507 44 N+1 ¢A 650 73.0 49.0
504 506 3vy O-1 «A 100 58.0 64.0(101 173 2v N-1 46 -50 30.0 92.0|508 504 54 N= ¢A 650 73.0 49.0
604 606 5# V-1 4K 100 58.0 64.0(109 177 3v N-1 &7 -50 30.0 92.0|574 577 44 N+1 &8 650 73.0 49.0
608 602 4+ V-1 &K 100 58.0 64.0(274 275 4v N-1 +5 -50 30.0 92.0|578 573 54 N= ¢A 650 73.0 49.0
680 605 4+ V-1 vJ 100 58.0 64.0(278 271 4v N-1 45 -50 30.0 92.0|579 572 44 N+1 v2 650 73.0 49.0
175 172 54 N-1 &T -100  32.0 90.0|280 206 4y N-1 T -50 30.0 92.0|602 610 44 N+1 v2 650 73.0 49.0
201 209 44 N-1 &T -100  32.0 90.0|301 309 4vy N-1 +6 -50 30.0 92.0|605 607 44 N+1 v2 650 73.0 49.0
271 276 44 N-1 &T -100  32.0 90.0|308 302 4y N-1 ¢4 -50 30.0 92.0|608 604 44 N+1 &3 650 73.0 49.0
374 377 44 N-1 &T -100  32.0 90.0|375 374 4vy N-1 ¢4 -50 30.0 92.0|676 675 44 S+1 &3 650 73.0 49.0
405 407 44 N-1 &T -100 320 90.0|378 371 4y N-1 T -50 30.0 92.0|678 673 44 N+1 &7 650 73.0 49.0
479 472 44 N-1 &5 -100  32.0 90.0|380 305 4y N-1 ¢5 -50 30.0 92.0|679 672 44 N+1 &4 650 73.0 49.0
573 576 44 N-1 ¢A -100 32.0 90.0|407 403 4y N-1 45 -50 30.0 92.0|580 506 3NN+1 T 630 28.0 94.0
575 574 44 N-1 &T -100 320 90.0|478 471 4y N-1 T -50 30.0 92.0|103 171 44 S= &3 620 19.0 103.0
579 510 44 N-1 &T -100  32.0 90.0|501 571 4y N-1 ¢4 -50 30.0 92.0|280 206 44 S= &5 620 19.0 103.0
109 176 34 V= vJ -110  20.0 102.0|509 503 4v N-1 ¢5 -50 30.0 92.0|373 376 44 N= v2 620 19.0 103.0
171 101 3+ V= vJ -110  20.0 102.0|578 573 4y N-1 45 -50 30.0 92.0|479 410 44 S= &3 620 19.0 103.0
607 603 3#V= 4K -110 20.0 102.0|579 572 4y N-1 +5 -50 30.0 92.0|480 405 44 S= &3 620 19.0 103.0
508 502 44 V= 4K -130 15.0 107.0|605 607 4y N-1 ¢5 -50 30.0 92.0|576 575 44 N= v2 620 19.0 103.0
675 674 44V= 4K -130 15.0 107.0|608 604 3v N-1 ¢3 -50 30.0 92.0|609 603 44 N= ¢A 620 19.0 103.0
180 105 44 V+1 &7 -150 11.0 111.0|679 672 4y N-1 ¢4 -50 30.0 92.0|680 606 44 N= &4 620 19.0 103.0
380 306 44 V+1 vJ -150 11.0 111.0|103 171 4v N-2 43 -100 6.0 116.0 (674 677 3NN= ¢5 600 10.0 112.0
103 111 44V +2 vJ -170 8.0 114.0 (180 106 4y N-2 a7 -100 6.0 116.0 (380 305 34 N+1 v2 170 8.0 114.0
277 270 34DN-1 &T -200 5.0 117.0 (279 270 4v N-2 ¢5 -100 6.0 116.0 (272 277 64 N-1 ¢A  -100 5.0 117.0
580 505 44DN-1 &T -200 5.0 117.0 (580 506 4v N-2 &7 -100 6.0 116.0 (279 270 64 N-1 v3 -100 5.0 117.0
673 676 5#V=  aK -600 2.0 120.0 (609 603 4y N-2 45 -100 6.0 116.0 {105 111 54 N-2 ¢A  -200 1.0 121.0
478 473 3NV +1 4K  -630 0.0 122.0 (574 577 3NN-3 5 -150 0.0 122.0 (404 406 5#N-2 ¢A  -200 1.0 121.0
13 4 K84 Basta kontrakt 14 4 Kn53 Basta kontrakt 15 4752 Basta kontrakt
Nord v3 5v O =-650 Ost v 1087642 7NT O =-1520 |Syd v EKKn7543 44 V =-420
Alla + D10843 Ingen +D5 NS +93
#K1063 & ¢ v o NT #Kn10 & ¢ v & NT *9 & ¢ v & NT
«EDKn6 4105 NS57 242 «D942 «E876 N20410 « D84 « KKn106 N3 2836
vKn952 vEK10764 S 5 7 2 4 2 vED5 K S20410 v 96 v- S32836
2 ¢ KKn5 08 6 119 9 ¢ EK ¢Kn108643 O 11139 1213 ¢EK54 ¢Knl10876 O 10115 105
D982 #E4 vV 8 6 118 9 2#KD72 #E4 V 11139 1213 #EKn74 #D532 V 10115 105
49732 + K10 «E93
vD8 v Kn93 vD1082
¢+ E976 ¢ 972 ¢ D2
#Kn75 #98653 #K1086
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
110 177 6v O-1 43 100 118.0 4.0|110 177 64 V-1 &J 50 1170 5.0|280 208 4v N= &3 620 121.0 1.0
280 207 4v O-1 #8 100 118.0 4.0|371 305 64 V-1 v8 50 1170 5.0|580 508 4y N= ¢J 620 121.0 1.0
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302 374 4v O-1 #J 100 118.0 4.0(380 308 64 V-1 #J 50 117.0 5.0(380 307 2NV-3 ¥3 150 116.0 6.0
304 372 5v O-1 &5 100 118.0 4.0(402 474 64 V-1 ¢Q 50 117.0 5.0(503 573 5#V-3 vA 150 116.0 6.0
502 572 6vy O-1 +¢A 100 118.0 4.0|480 408 64 V-1 &J 50 1170 5.0|602 674 44 O-3 v2 150 116.0 6.0
102 174 49 O= &5 -620 91.0 31.0|603 671 64 V-1 &J 50 117.0 5.0(170 176 2y N+1 46 140 106.0 16.0
104 172 4v O= &5 -620 91.0 31.0|307 309 2NV +4 43 -240 110.0 12.0|274 279 3v N= #Q 140 106.0 16.0
106 170 4v O= o7 -620 91.0 31.0|111 176 44 V= vT -420 108.0 14.0|276 277 2v S+1 #4 140 106.0 16.0
108 179 4v O= +¢A 620 91.0 31.0|108 179 5¢ O+2 ¥3 -440 106.0 16.0|502 574 3v N=  #2 140 106.0 16.0
111 176 4v O= 43 -620 91.0 31.0|310 306 3NV +2 ¢8 -460 104.0 18.0|578 577 3vy N= &3 140 106.0 16.0
173 103 4v O= v8 -620 91.0 31.0|301 375 44 V+2 &J -480 96.0 26.0|607 609 2v N+1 ¢J 140 106.0 16.0
210 204 49y O= 3 -620 91.0 31.0|302 374 44 V+2 &J -480 96.0 26.0|610 606 3v N= #3 140 106.0 16.0
273 278 4y O= &7 -620 91.0 31.0|378 377 54 V+1 #J -480 96.0 26.0|174 104 2vy N= ¢J 110 97.0 25.0
279 272 4v O=  #8 -620 91.0 31.0|407 409 44 V+2 ¢Q -480 96.0 26.0|202 272 2+ N= ¢J 110 97.0 25.0
303 373 4y O= &5 -620 91.0 31.0|471 405 44 V+2 &) -480 96.0 26.0|301 373 54DV-1 vA 100 89.0 33.0
307 309 4y O= &3 -620 91.0 31.0|509 505 44 V+2 v4 -480 96.0 26.0|302 372 44 O-2 v2 100 89.0 33.0
403 473 49y O= &5 -620 91.0 31.0|510 504 44 V+2 v4 -480 96.0 26.0|379 374 5¢DV-1 vK 100 89.0 33.0
404 472 4y O= &7 -620 91.0 31.0|106 170 3NV +3 43 -490 85.0 37.0|480 407 54 0-2 vA 100 89.0 33.0
407 409 4y O= &5 -620 91.0 31.0|210 204 3NV +3 v4 -490 85.0 37.0|501 575 5#DV-1 vA 100 89.0 33.0
471 405 4v O= &5 -620 91.0 31.0|410 406 3NV +3 #J -490 85.0 37.0|507 509 44 V-2 vA 100 89.0 33.0
476 479 4y O= &5 -620 91.0 31.0|601 673 3NV +3 v6 -490 85.0 37.0|109 179 5¢ V-1 vA 50 82.0 40.0
480 408 4y O= &5 -620 91.0 31.0|203 211 4NV +3 ¢2 -520 78.0 44.0|110 178 3y N-1 ¢J -100  71.0 51.0
506 508 4y O= &5 -620 91.0 31.0|579 574 3NV +4 2 -520 78.0 44.0|201 273 4v N-1 46 -100 710 51.0
575 578 4y O= &5 -620 91.0 31.0|609 605 3NO +4 %6 -520 78.0 44.0|210 206 4v S-1 ¢K -100 710 51.0
577 576 4y O= &5 -620 91.0 31.0|102 174 64 V= &J -980 56.0 66.0|310 304 4v N-1 #3 -100 710 51.0
602 672 4y O= &7 -620 91.0 31.0|105 171 64 V= &J -980 56.0 66.0|375 378 3v N-1 &3 -100 710 51.0
609 605 4y O= ¢A -620 910 31.0|109 178 64 V= &J -980 56.0 66.0|401 473 3v N-1 46 -100 710 51.0
105 171 4y O+1 a2 -650 37.0 85.0|175 101 6e V= #J -980 56.0 66.0|475 478 4y N-1 3 -100  71.0 51.0
109 178 4v O+1 ¢A  -650 37.0 85.0(|202 270 64 V= &J -980 56.0 66.0|571 505 4v N-1 &3 -100 710 51.0
175 101 4y O+1 42 -650 37.0 85.0|206 208 64 V= v8 -980 56.0 66.0|671 605 3vy N-1 4K -100 710 51.0
180 107 4y O+1 a7 -650 37.0 85.0|273 278 64 V= #J -980 56.0 66.0|680 608 4y N-1 ¢J -100 71.0 51.0
201 271 4v O+1 43 -650 37.0 85.0|275 276 64 V= &J -980 56.0 66.0|477 476 4¢ V+1 K  -150 59.0 63.0
202 270 59y O= ¢A 650 37.0 85.0|277 274 64 V= &J -980 56.0 66.0|510 506 4¢ V+1 vA  -150 59.0 63.0
203 211 5y O= 43 -650 37.0 85.0|279 272 64 V= #] -980 56.0 66.0|278 275 4¢ V+2 A -170 53.0 69.0
206 208 4y O+1 42 -650 37.0 85.0|376 379 64 V= v4 -980 56.0 66.0|479 474 4¢ V+2 vA  -170 53.0 69.0
209 205 4y O+1 ¢A 650 37.0 85.0|401 475 64 V= 43 -980 56.0 66.0|604 672 4¢ V+2 vA  -170 53.0 69.0
275 276 4v O+1 43 -650 37.0 85.0|476 479 64 V= &] -980 56.0 66.0|676 679 4¢ V+2 &9 -170  53.0 69.0
301 375 4v O+1 43 -650 37.0 85.0|502 572 64 V= ¢Q -980 56.0 66.0(101 102 4v N-2 46 -200 40.0 82.0
310 306 4y O+1 &2 -650 37.0 85.0|503 571 6&4 V= &J -980 56.0 66.0|207 209 4v N-2 &T -200 40.0 82.0
371 305 4v O+1 &7 -650 37.0 85.0|506 508 64 V= v8 -980 56.0 66.0|211 205 4vyDN-1 %2 -200 40.0 82.0
376 379 4v O+1 43 -650 37.0 85.0|602 672 64 V= v6 -980 56.0 66.0|306 308 24 O+3 8 -200 40.0 82.0
378 377 4v O+1 43 -650 37.0 85.0|675 678 64 V= vT -980 56.0 66.0|402 472 4y N-2 ¢ -200 40.0 82.0
401 475 4v O+1 43 -650 37.0 85.0|680 607 64 V= #J -980 56.0 66.0|403 471 4y N-2 T -200 40.0 82.0
402 474 49 O+1 43 -650 37.0 85.0|209 205 6NV = v2 -990 33.0 89.0|409 405 4y N-2 4] -200 40.0 82.0
410 406 4v O+1 &7 -650 37.0 85.0|304 372 6NV = v6 -990 33.0 89.0|410 404 4y N-2 ¢J -200 40.0 82.0
478 A77 4v O+1 43 -650 37.0 85.0|575 578 6NV = v4 -990 33.0 89.0|576 579 4y N-2 46 -200 40.0 82.0
501 573 4y O+1 ¢A -650 37.0 85.0|606 608 6NV = v4 -990 33.0 89.0|406 408 5¢ O= 4A  -400 29.0 93.0
503 571 4y O+1 ¢A -650 370 85.0|104 172 6NV+1 v6 -1020 150 107.0|603 673 5¢ V= vA  -400 29.0 93.0
509 505 4v O+1 49 -650 37.0 85.0|173 103 6NV +1 6 -1020 15.0 107.0|105 173 5¢ V+1 vA  -420 17.0 105.0
510 504 4y O+1 43 -650 37.0 85.0|180 107 6NV +1 2 -1020 15.0 107.0|107 171 5¢ V+1 vK -420 17.0 105.0
579 574 4y O+1 ¢A -650 370 85.0|201 271 6NV+1 8 -1020 150 107.0|111 177 44 O= vQ -420 17.0 105.0
580 507 4v O+1 &5 -650 37.0 85.0|280 207 6NV +1 8 -1020 15.0 107.0|180 108 5¢ V+1 vA  -420 17.0 105.0
603 671 4v O+1 A -650 370 850|303 373 6NV+1 ¥2 -1020 15.0 107.0(203 271 44 V= vA  -420 17.0 105.0
606 608 4v O+1 49 -650 37.0 85.0|404 472 6NV+1 v2 -1020 15.0 107.0|204 270 5¢ V+1 vA  -420 17.0 105.0
610 604 4y O+1 +8 -650 37.0 85.0|478 477 6NV +1 6 -1020 15.0 107.0|303 371 5¢ V+1 9 -420  17.0 105.0
675 678 4y O+1 ¢A -650 370 85.0|501 573 6NV +1 8 -1020 15.0 107.0|309 305 5¢ V+1 vA  -420 17.0 105.0
677 676 4v O+1 &3 -650 37.0 85.0|577 576 6NV +1 ¥4 -1020 15.0 107.0|601 675 5¢ V+1 vA -420 17.0 105.0
679 674 4v O+1 45 -650 37.0 85.0|580 507 6NV +1 8 -1020 15.0 107.0|678 677 44 O= 8 -420  17.0 105.0
680 607 4y O+1 ¢A -650 370 85.0|610 604 6NV +1 &J -1020 15.0 107.0|103 175 5vDN-2 3 -500 6.0 116.0
277 274 49y O+2 o7 -680 2.0 120.0 (677 676 6NV +1 v7 -1020 15.0 107.0|504 572 5¢DV+1 vA  -650 4.0 118.0
380 308 4y O+2 +¢6 -680 2.0 120.0 679 674 6NV +1 ¥4 -1020 15.0 107.0|106 172 5vDN-3 46 -800 1.0 121.0
601 673 4v O+2 +6 -680 2.0 120.0 (403 473 7NV = v8 -1520 0.0 122.0 (377 376 5¢vDN-3 «T -800 1.0 121.0
16 432 Basta kontrakt 17 4 K75 Basta kontrakt 18 4« ED98 Basta kontrakt
Vast v KD85 2NT N =120 Nord v 102 3v O =-140 Ost v Kn104 2¢ O =-90
ov ¢ EKKn Ingen ¢ DKn10642 NS + 10754
*Kn764 & ¢ v & NT *K2 & ¢ v & NT *E2 & ¢ v & NT
«KD85 4E109 N9 6778 4ED98 44 N37 3765 4Kn62 #KI105 N75776
vE1064 vKn93 S967 738 vD9843 v KKn65 S37375 v 762 v KD9 S74775
¢ 105 ¢+ D9743 0366 65 ¢- ¢ EK85 O 105 9 6 7 ¢+ EK863 ¢ D92 06 8557
£952 «D8 V46665 #Kn1098 #D743 vV 105 9 6 7 86 #K1094 V68557
4 Kn764 4 Kn10632 4743
vi72 vE7 v E853
¢ 862 ¢ 973 ¢+ Kn
#EK103 #E65 #DKn753
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
477 476 2y V-4 43 400 120.0 2.0|275 201 2¢DN+1 44 280 122.0 0.0|175 105 2v S= &8 110 1200 20
503 573 3NN=  +6 400 1200 2.0|372 308 3NO-2 7 100 119.0 3.0(503 575 2¢y N= ¢2 110 120.0 2.0
601 675 3NN=  ¢5 400 120.0 2.0|571 507 4v O-2 9 100 119.0 3.0|677 601 24 N= ¢Q 110 120.0 2.0
410 404 INN+4 ¢3 210 116.0 6.0(111 178 4y V-1 a5 50 108.0 14.0(110 179 2¢ V-2 #A 100 111.0 11.0
103 175 2¢ O-2 97 200 1140 8.0(171 176 3v V-1 ¢Q 50 108.0 14.0(171 176 3¢ V-2 #A 100 111.0 11.0
101 102 INN+3 ¢4 180 105.0 17.0|208 210 4v V-1 ¢Q 50 108.0 14.0(279 276 INO-2 &3 100 111.0 11.0
105 173 INN+3 ¢4 180 105.0 17.0|270 206 4v V-1 ¢Q 50 108.0 14.0|305 375 2¢ V-2 vJ 100 111.0 11.0
174 104 INN+3 ¢4 180 105.0 17.0(277 278 4v V-1 ¢Q 50 108.0 14.0|409 471 INO-2 &5 100 111.0 11.0
377 376 INN+3 ¢3 180 105.0 17.0|305 375 4v V-1 ¢Q 50 108.0 14.0(680 609 3NO-2 #Q 100 111.0 11.0
379 374 INN+3 5 180 105.0 17.0|409 471 4v V-1 ¢Q 50 108.0 14.0|208 210 3¢ O-1 ¢J 50 94.0 28.0
607 609 INN+3 v9 180 105.0 17.0|502 576 4v V-1 45 50 108.0 14.0|270 206 INO-1 ¥5 50 94.0 28.0
671 605 INN+3 ¢7 180 105.0 17.0|608 610 3NO-1 ¢7 50 108.0 14.0|275 201 3¢ V-1 ¢4 50 94.0 28.0
680 608 INN+3 43 180 105.0 17.0(104 101 3¢ N-1 «4 -50 97.0 25.0(280 209 INV-1 vJ 50 94.0 28.0
106 172 INN+2 ¢4 150 79.0 43.0(110 179 24 S-1 #J -50 97.0 25.0|304 376 INO-1 ¥5 50 94.0 28.0
179 109 INN+2 3 150 79.0 43.0 (211 207 2¢DN-1 #4 -100 92.0 30.0|406 474 INO-1 43 50 94.0 28.0
201 273 2NN+1 ¢3 150 79.0 43.0 (401 479 2¢DN-1 #4 -100 92.0 30.0|472 408 3NO-1 vA 50 94.0 28.0
202 272 INN+2 ¢3 150 79.0 43.0|605 673 24 S-2 ¢33 -100 920 30.0|505 573 3¢ V-1 vJ 50 94.0 28.0
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203 271 INN+2 +3 150 79.0 43.0|108 172 2v V+2 45 -170 84.0 38.0 (577 501 3¢ O-1 Q 50 94.0 28.0
274 279 2NN+1 3 150 79.0 43.0(175 105 3v O+1 3 -170 84.0 38.0|603 675 2NO-1 %3 50 94.0 28.0
276 277 INN+2 ¢4 150 79.0 43.0|406 474 2v O+2 #A -170 84.0 38.0(604 674 2NO-1 ¥5 50 94.0 28.0
278 275 INN+2 +3 150 79.0 43.0|577 501 2vy V+2 ¢Q -170 84.0 38.0(203 273 Pass 82.0 40.0
280 208 INN+2 3 150 79.0 43.0|677 601 3y V+1 +Q -170 84.0 38.0(605 673 14 O=  ¢J -70  80.0 42.0
310 304 INN+2 ¢6 150 79.0 43.0(404 476 5¢DN-2 ¢A -300 78.0 44.0(102 103 1INV = 48 -90 58.0 64.0
402 472 INN+2 +3 150 79.0 43.0|102 103 4y O= #A -420 42.0 80.0 (104 101 INO= v5 -90 58.0 64.0
409 405 INN+2 +5 150 79.0 43.0|106 174 4v V= ¢Q 420 42.0 80.0(107 173 INO= &5 -90 58.0 64.0
475 478 INN+2 3 150 79.0 43.0|107 173 4v O= ¢9 -420 42.0 80.0 (108 172 INO= v6 -90 58.0 64.0
479 474 INN+2 7 150 79.0 43.0|170 177 4y V= &K -420 42.0 80.0(180 109 INO= &3 -90 58.0 64.0
501 575 2NN+1 3 150 79.0 43.0(180 109 4v O= +9 -420 42.0 80.0|211 207 INV= 49 -90 58.0 64.0
504 572 INN+2 ¥3 150 79.0 43.0|202 274 4y O= 4] -420  42.0 80.0 (277 278 INO= v3 -90 58.0 64.0
510 506 INN+2 3 150 79.0 43.0|204 272 4y V= ¢+Q -420 42.0 80.0(306 374 1INV = 48 -90 58.0 64.0
571 505 2NN+1 3 150 79.0 43.0(205 271 4v V= 45 -420 42.0 80.0 (378 302 INO= v5 -90 58.0 64.0
107 171 INN+1 v4 120 440 78.0(279 276 4v O= +Q -420 420 80.0(380 310 2¢ V= *A -90 58.0 64.0
111 177 INN+1 3 120 44.0 78.0 (280 209 4v V= ¢Q -420 42.0 80.0 (403 477 INO= #Q -90 58.0 64.0
207 209 INN+1 3 120 44.0 78.0|301 379 4v V= ¢Q -420 42.0 80.0(405 475 INO= v5 -90 58.0 64.0
210 206 INN+1 ¢4 120 440 78.0(303 377 4v O= +Q -420 420 80.0|478 402 INO= #Q -90 58.0 64.0
211 205 INN+1 3 120 44.0 78.0(304 376 4v O= +3 -420 42.0 80.0 (504 574 INO= #Q -90 58.0 64.0
301 373 INN+1 3 120 44.0 78.0 (306 374 4v V= 45 -420 42.0 80.0|571 507 INO= v3 -90 58.0 64.0
309 305 INN+1 3 120 44.0 78.0 (309 371 4v V= ¢Q -420 42.0 80.0 (572 506 INO= v5 -90 58.0 64.0
375 378 INN+1 3 120 44.0 78.0 (373 307 4v O= &A -420 42.0 80.0 (579 578 INO= #Q -90 58.0 64.0
401 473 INN+1 ¢4 120 44.0 78.0 (380 310 4v V= &2 -420 42.0 80.0|608 610 2¢ V= v] -90 58.0 64.0
403 471 INN+1 7 120 44.0 78.0|403 477 4v V= ¢Q -420 42.0 80.0(671 607 INO= &7 -90 58.0 64.0
502 574 INN+1 3 120 44.0 78.0 (405 475 4v O= &) -420 42.0 80.0 (672 606 INO=  #3 -90 58.0 64.0
576 579 INN+1 3 120 44.0 78.0 (472 408 4v V= ¢Q -420 42.0 80.0(679 678 INO= #Q -90 58.0 64.0
578 577 INN+1 3 120 44.0 78.0|478 402 4v V= 45 -420 42.0 80.0 (473 407 2v S-1 8 -100 34.0 88.0
580 508 2N S = K 120 44.0 78.0(480 410 4v O= +3 -420 42.0 80.0 (502 576 2v S-1 ¢A -100  34.0 88.0
604 672 INN+1 3 120 440 78.0|503 575 4v O= ¢3 -420 42.0 80.0|508 510 2v S-1 #8 -100  34.0 88.0
610 606 INN+1 3 120 440 78.0 (505 573 4v O= &) -420 42.0 80.0(106 174 INO+1 ¥3 -120  19.0 103.0
678 677 INN+1 ¢4 120 44.0 78.0 (508 510 4v V= ¢Q -420 42.0 80.0(111 178 INO+1 &3 -120 19.0 103.0
204 270 2y N= «Q 110 22.0 100.0 |572 506 4v V= 45 -420 42.0 80.0|170 177 INO+1 &7 -120 19.0 103.0
308 306 3# N= +3 110 22.0 100.0 |579 578 4y V= +K -420 420 80.0|204 272 INO+1 ¥3 -120  19.0 103.0
406 408 3& N = vJ 110 22.0 100.0 |580 509 4v V= ¢Q 420 42.0 80.0(205 271 INO+1 &3 -120 19.0 103.0
603 673 2& N+1 ¢4 110 22.0 100.0 1602 676 4v V= 45 -420 42.0 80.0|372 308 INO+1 3 -120 19.0 103.0
676 679 3% S= v3 110 22.0 100.0 1603 675 4v V= ¢Q -420 42.0 80.0(373 307 INO+1 &3 -120  19.0 103.0
380 307 2vy V-1 43 100 15.0 107.0 |604 674 4v V= vT -420 42.0 80.0 (401 479 2NO= &3 -120 19.0 103.0
507 509 INV-1 ¢A 100 15.0 107.0 (671 607 4v V= v2 -420 42.0 80.0|404 476 INV+1 48 -120 19.0 103.0
110 178 INN= *4 90 11.0 111.0|672 606 4y O= +¢9 -420 42.0 80.0 (480 410 2NO= &3 -120 19.0 103.0
170 176 INN= 49 90 11.0 111.0 |679 678 4y V= ¢Q -420 42.0 80.0(580 509 INO+1 &7 -120 19.0 103.0
180 108 2N S-1 v6 -50 4.0 118.0 680 609 4v V = ¢Q 420 42.0 80.0(602 676 INO+1 %5 -120 19.0 103.0
302 372 3NN-1 ¢4 -50 4.0 118.0 (203 273 4y O+1 3 -450 6.0 116.0 (301 379 INO+2 #Q  -150 5.0 117.0
303 371 2NS-1 T -50 4.0 118.0|504 574 44D S -3 #J -500 4.0 118.0|309 371 INO+2 45 -150 5.0 117.0
480 407 24 S-1 &2 -50 4.0 118.0|378 302 5¢DN-4 vQ -800 1.0 121.0 (202 274 2v S-2 +A -200 1.0 121.0
602 674 3NN-1 o7 -50 4.0 118.0|473 407 5¢DN-4 3 -800 1.0 121.0 (303 377 24 N-2 ¢2 -200 1.0 121.0
19 4 KKn10752 Basta kontrakt 20 49 Basta kontrakt 21 410 Basta kontrakt
Syd v D765 54 SD-2-300 Vast v EKn106542 7v ND-4-1100 |Nord v E108432 6¢ O =-920
oV 465 Alla +92 NS + 1075
*7 & ¢ v & NT #972 & ¢ v & NT #Kn9o8 & ¢ v & NT
+ D6 43 N21393 4 Kn753 & EK842 N7 1915 |aE « KKn985 NOOG®G6 40
v 98 vEKNn1043 S 2 2 3 9 3 v K93 v- S71915 |vD vKn75 S006 40
¢ ED102 49843 O 11119 4 7 ¢+ D853 ¢ EK1076 O 6 124 126 | ¢ EKD986432 ¢ - O 10126 8 10
#DKn1085 #EK4 V 11119 4 7 &E5 #D83 V 6 114 118 |&D5 #EK1072 V 10126 8 10
«E984 4 D106 4 D76432
vK2 v D87 v K96
+ KKn7 + Kn4 + Kn
#9632 #KKn1064 #643
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
204 274 34DN= &#A 530 120.0 2.0(503 577 4y N-1 +A -100 122.0 0.0 (305 379 7NDV-3 vA 500 122.0 0.0
605 675 34DN= &A 530 120.0 2.0(172 176 4¢ O+2 &6 -170 120.0 2.0(604 678 7NV-6 vA 300 120.0 2.0
672 608 34DN= &K 530 120.0 2.0(111 179 3vDN-1 4A -200 115.0 7.0(607 675 6NV-5 vA 250 118.0 4.0
271 207 4v O-2 &A 200 114.0 8.0(372 306 4y N-2 &A -200 115.0 7.0(272 208 6NV-2 vA 100 1150 7.0
278 279 44+ V-2 +6 200 114.0 8.0 (472 406 34 O+2 7 -200 115.0 7.0(375 309 6NO-2 v6 100 1150 7.0
601 679 4v O-2 &A 200 114.0 8.0(604 676 3vyDN-1 4A -200 115.0 7.0(207 273 7NV-1 YA 50 108.0 14.0
377 301 34 N+1 #A 170 110.0 12.0 (171 177 34 O+3 v7 -230 108.0 14.0 (374 310 7¢ V-1 vA 50 108.0 14.0
101 106 34 N= vA 140 940 28.0|305 373 34 V+3 VYA -230 108.0 14.0 (408 476 6NV -1 YA 50 108.0 14.0
105 102 34 N= &A 140 94.0 28.0|609 671 34 O+3 ¢4 -230 108.0 14.0 (510 572 7¢ V-1 YA 50 108.0 14.0
170 178 34 S= &J 140 94.0 28.0|303 375 44 V= +9 -620 101.0 21.0 (602 601 44 O-1 ¢K 50 108.0 14.0
172 176 24 N+1 A 140 94.0 28.0|505 575 44 V= +9 -620 101.0 21.0 (173 176 4¢ V+1 &T -150 102.0 20.0
206 272 34 S= v9 140 94.0 28.0|572 508 4e V= vA -620 101.0 21.0 (202 278 4¢ V+3 &T -190 100.0 22.0
209 211 34 N= &A 140 94.0 28.0|672 608 44 O= vQ -620 101.0 21.0(106 103 5¢ V= vA -400 98.0 24.0
379 378 34 N= &K 140 940 28.0|103 104 44 O+1 vQ -650 89.0 33.0(205 275 5¢ V+1 YA -420 89.0 33.0
403 475 24 N+1 #A 140 94.0 28.0|201 277 44 O+1 w7 -650 89.0 33.0 (206 274 5¢ V+1 YA -420 89.0 33.0
408 410 34 N= &K 140 94.0 28.0|308 310 44 V+1 +¢9 -650 89.0 33.0(301 304 5¢ V+1 ¢vA -420 89.0 33.0
477 401 34 N= &A 140 94.0 28.0|404 474 44 O+1 3 -650 89.0 33.0 (506 576 5¢ V+1 YA -420 89.0 33.0
501 579 34 N= &A 140 94.0 28.0|480 409 44 V+1 ©vA -650 89.0 33.0 (573 509 5¢ V+1 YA -420 89.0 33.0
505 575 24 N+1 ¢4 140 94.0 28.0|506 574 44 O+1 vQ -650 89.0 33.0(606 676 5¢ V+1 ¢A -420 89.0 33.0
572 508 34 N= A 140 94.0 28.0(601 679 44 V+1 9 -650 89.0 33.0 (610 672 5¢ V+1 YA -420 89.0 33.0
580 510 34 N= &A 140 94.0 28.0|605 675 44 O+1 vQ -650 89.0 33.0(679 603 5¢ V+1 YA -420 89.0 33.0
604 676 34 N= &A 140 94.0 28.0|101 106 44 O+2 ¢J -680 42.0 80.0(580 571 3NO+1 ¥6 -430 80.0 42.0
276 202 2NV-1 «J 100 72.0 50.0|105 102 44 O+2 #Q -680 42.0 80.0(171 178 5¢ V+2 &T -440 77.0 45.0
280 210 3y O-1 «A 100 72.0 50.0|107 175 44 V+2 ©vA -680 42.0 80.0 (673 609 5¢ V+2 &T -440 77.0 45.0
308 310 5v O-1 «A 100 72.0 50.0|108 174 44 O+2 w7 -680 42.0 80.0 (407 477 4NO+2 v6 -490 74.0 48.0
371 307 5#V-1 «J 100 72.0 50.0 (109 173 44 O+2 +J -680 42.0 80.0 (102 107 6¢ V= vA -920 47.0 75.0
404 474 44V -1 43 100 72.0 50.0|170 178 54 O+1 ¢J -680 42.0 80.0 (104 105 6¢ V= vA -920 47.0 75.0
405 473 5v O-1 «A 100 72.0 50.0|203 275 44 O+2 w7 -680 42.0 80.0 (109 175 6¢ V= vA -920 47.0 75.0
606 674 4v O-1 «A 100 72.0 50.0 (204 274 44 V+2 ¢9 -680 42.0 80.0 (110 174 6¢ V= vA -920 47.0 75.0
109 173 Pass 63.0 59.0|205 273 54 O+1 vQ -680 42.0 80.0(172 177 6¢ V= vA -920 47.0 75.0
302 376 Pass 63.0 59.0|206 272 44 O+2 vJ -680 42.0 80.0 (210 270 6¢ V= vA -920 47.0 75.0
171 177 44 N-1  #A -50 47.0 75.01209 211 44 O+2 &T -680 42.0 80.0 (277 203 6¢ V= vA -920 470 75.0
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201 277 46 N-1 &A -50 47.0 75.0(270 208 44 O+2 w7 -680 42.0 80.0|279 201 6¢ V= vA -920 47.0 75.0
203 275 44 N-1 &A -50 47.0 75.0(271 207 44 V+2 ©vA -680 42.0 80.0|280 211 6¢ V= vA -920 47.0 75.0
270 208 44 N-1 43 -50 47.0 75.0|276 202 44 V+2 YA -680 42.0 80.0|303 302 6¢ V= vA -920 47.0 75.0
304 374 464 N-1 &K -50 47.0 75.0|278 279 44 O+2 w7 -680 42.0 80.0|306 378 6¢ V= vA -920 47.0 75.0
305 373 44 N-1 &A -50 47.0 75.0|280 210 44 O+2 ¢Q -680 42.0 80.0|307 377 6¢ V= vA -920 47.0 75.0
372 306 44 N-1 &A -50 47.0 75.0(302 376 44 O+2 &K -680 42.0 80.0|308 376 6¢ V= vA -920 47.0 75.0
472 406 46 N-1 &A -50 47.0 75.0|304 374 44 O+2 46 -680 42.0 80.0)|403 402 6¢ V= vA -920 47.0 75.0
479 478 46 N-1 &A -50 47.0 75.0|371 307 44 O+2 v7 -680 42.0 80.0)|405 479 6¢ V= vA -920 47.0 75.0
480 409 44 N-1 #A -50 47.0 75.0|377 301 44 O+2 &T -680 42.0 80.0)|406 478 6¢ V= vA -920 47.0 75.0
503 577 44 N-1 &A -50 47.0 75.0|379 378 44 O+2 v7 -680 42.0 80.0 (471 473 6¢ V= vA -920 47.0 75.0
506 574 44 N-1 &A -50 47.0 75.0(380 309 44 O+2 #4 -680 42.0 80.0|474 410 64 O= vA -920 47.0 75.0
509 571 44 N-1 &A -50 47.0 75.0|402 476 44 O+2 ¢J -680 42.0 80.0 (475 409 6¢ V= vA -920 47.0 75.0
573 507 44 S-1 v9 -50 47.0 75.0|403 475 44 O+2 v7 -680 42.0 80.0)|480 472 6¢ V= vA -920 47.0 75.0
103 104 3¢ O= s A -110 30.0 92.0|405 473 44 O+2 @7 -680 42.0 80.0|504 578 6¢ V= vA -920 47.0 75.0
303 375 3 V= a5 -110  30.0 92.0|408 410 44 V+2 ©vA -680 42.0 80.0|505 577 6¢ V= vA -920 47.0 75.0
603 677 2v O= *7 -110 30.0 92.0 (471 407 44 O+2 &4 -680 42.0 80.0|574 508 6¢ V= vA -920 47.0 75.0
205 273 4¢ V= &7 -130 22.0 100.0 |477 401 44 O+2 @7 -680 42.0 80.0|579 503 6¢ V= vA -920 47.0 75.0
380 309 3&V+1l 42 -130  22.0 100.0 |479 478 44 V+2 vA -680 42.0 80.0|605 677 6¢ V= vA -920 47.0 75.0
471 407 3¢ O+1 &A -130  22.0 100.0 (501 579 44 O+2 w7 -680 42.0 80.0 (680 671 6¢ V= vA -920 47.0 75.0
504 576 3&V+1 46 -130  22.0 100.0 |504 576 44 O+2 +¢J -680 42.0 80.0|108 101 6¢ O+1 ¢J -940 14.0 108.0
673 607 24 V+2 46 -130  22.0 100.0 (573 507 44 O+2 w7 -680 42.0 80.0(180 111 6¢ V+1 &T -940 14.0 108.0
107 175 4¢ O+1 &A -150 11.0 111.0 |[578 502 44 O+2 w7 -680 42.0 80.0|204 276 6¢ V+1 &T -940 14.0 108.0
108 174 4¢ V+1 &7 -150 11.0 111.0|580 510 44 O+2 +¢J -680 42.0 80.0|271 209 64 V+1 &T -940 14.0 108.0
111 179 44V +1 46 -150 11.0 111.0|603 677 44 O+2 vQ -680 42.0 80.0|371 373 6¢ O+1 ¢J -940 14.0 108.0
578 502 3¢ O+2 &A -150 11.0 111.0 (606 674 44 O+2 ¥8 -680 42.0 80.0|380 372 6¢ V+1 &T -940 14.0 108.0
678 602 34V +2 &T -150 11.0 111.0|673 607 44 O+2 +¢J -680 42.0 80.0|674 608 64 V+1 &T -940 14.0 108.0
680 610 3#V+2 v6 -150 11.0 111.0 (678 602 44 O+2 w7 -680 42.0 80.0(170 179 6NO+1 &6 -1020 4.0 118.0
180 110 2v O+3 44 -200 4.0 118.0|680 610 44 V+2 ©vA -680 42.0 80.0|401 404 6NO+1 &6 -1020 4.0 118.0
609 671 5# V= T -600 2.0 120.0 (180 110 54 O+2 ¥Q -710 2.0 120.0 507 575 6NV +1 8 -1020 4.0 118.0
402 476 3INO+1 ¢vK -630 0.0 122.0 509 571 64 V= 49 -1430 0.0 122.0|502 501 6¥yDN-5 #A -1400 0.0 122.0
22 +D10 Basta kontrakt 23 4 Kn953 Basta kontrakt 24 4 E62 Basta kontrakt
Ost v972 2v O =-110 Syd v3 INTS =90 Vast v63 6¢ S =920
oV ¢ EKn2 Alla + K954 Ingen + E9853
&#DKn1042 & ¢ v & NT &E1092 & ¢ v & NT &EK3 & ¢ v & NT
493 & EKn74 N6 6 4 66 «E84 #1076 N6 6 6 7 7 4 DKn9753 «4 N 7 118 8 11
vE853 vKDKnl10 S 66 466 vEDKN92 v64 S777 77 v- vDKn109754 S 8 128 8 11
¢+ K954 ¢ D7 O76 867 + ED7 + 1086 O6 5655 ¢ 742 +D 051541
875 #E93 V76 8¢67 &#KKn #86543 V656057:5 #8642 &DKn97 V51541
& K8652 & KD2 4 K108
v 64 v K10875 v EK82
410863 ¢ Kn32 + KKn106
&K6 D7 #105
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
504 578 34DS= vA 530 122.0 0.0|379 303 1vRDS=eA 720 122.0 0.0|174 176 4vDO-5 ¢K 1100 122.0 0.0
607 675 3NV-3 #Q 300 120.0 2.0|207 275 44 O0-4 &K 400 114.0 8.0 (109 102 4vDO-4 ¢K 800 119.0 3.0
170 179 24 O-2 v4 200 115.0 7.0(307 375 3 O0-4 &K 400 114.0 8.0 473 409 34DV -4 &A 800 119.0 3.0
374 310 4y O-2 #6 200 115.0 7.0|506 578 2NV -4 &5 400 114.0 8.0(207 275 3NS+4 &«Q 520 115.0 7.0
574 508 4y O-2 46 200 115.0 7.0 (507 577 4v V-4 &A 400 114.0 8.0 (607 677 3NS+4 &7 520 115.0 7.0
673 609 3NO-2 T 200 115.0 7.0|575 509 4v V-4 ¢5 400 114.0 8.01107 104 3vyDO-3 +¢J 500 108.0 14.0
104 105 4v O-1 46 100 104.0 18.0 (607 677 2&4V-4 3 400 114.0 8.01201 202 3vyDO-3 #T 500 108.0 14.0
173 176 3v O-1 &K 100 104.0 18.0(675 609 2NV -4 &3 400 114.0 8.0 (208 274 4vDO-3 #T 500 108.0 14.0
207 273 4v O-1 +3 100 104.0 18.0(107 104 3NV-3 ¥4 300 95.0 27.0)|404 478 3vyDO-3 vA 500 108.0 14.0
307 377 4v O-1 42 100 104.0 18.0|172 178 2NV-3 &2 300 95.0 27.0|501 504 3vyDO-3 &«T 500 108.0 14.0
405 479 4v O-1 v6 100 104.0 18.0|173 177 2NV -3 43 300 95.0 27.0|304 378 3NS+3 44 490 100.0 22.0
474 410 4v V-1 #Q 100 104.0 18.0 (208 274 3# O-3 4K 300 95.0 27.0|307 375 3NN+3 vQ 490 100.0 22.0
605 677 3vy O-1 ¢8 100 104.0 18.0(272 210 34 0O-3 &K 300 95.0 27.0({405 477 3NS+3 «Q 490 100.0 22.0
606 676 24 S-1 YA -50 96.0 26.0(302 301 2NV-3 «J 300 95.0 27.0(110 101 3NN+2 vQ 460 70.0 52.0
180 111 INO= a2 -90 86.0 36.0(310 372 2NV-3 #2 300 95.0 27.0|171 179 3NN+2 ¢Q 460 70.0 52.0
271 209 INO = a2 -90 86.0 36.0|374 308 3NV-3 ¥3 300 95.0 27.0|172 178 3NN+2 vJ 460 70.0 52.0
280 211 INO= a2 90 86.0 36.0|410 472 2NO-3 #2 300 95.0 27.0(173 177 3NN+2 vQ 460 70.0 52.0
371 373 1INV = a5 -90 86.0 36.0(574 510 24 O0-3 ¥8 300 95.0 27.0|180 170 3NN+2 ¢Q 460 70.0 52.0
403 402 INO= a5 -90 86.0 36.0|580 572 3NV-3 ¥3 300 95.0 27.0|205 277 3NN+2 ¢Q 460 70.0 52.0
407 477 INO= a5 -90 86.0 36.0(671 673 24 0-3 ¥3 300 95.0 27.0(206 276 3NS+2 &Q 460 70.0 52.0
510 572 INO= a2 -90 86.0 36.0(103 108 2NV-2 ¢4 200 72.0 50.0|272 210 3NN+2 ¢Q 460 70.0 52.0
580 571 INO= a2 -90 86.0 36.0(111 175 3#V-2 ¥3 200 72.0 50.0(273 209 3NS+2 «Q 460 70.0 52.0
674 608 1INO = a2 -90 86.0 36.0|171 179 3v V-2 ¥3 200 72.0 50.0 ({278 204 3NN+2 vQ 460 70.0 52.0
202 278 24 S-2 ¢5 -100  75.0 47.0(174 176 2NV-2 ¢4 200 72.0 50.0(302 301 3INS+2 &Q 460 70.0 52.0
401 404 24 S-2 ¢5 -100 75.0 47.0|203 279 2 O-2 ¢2 200 72.0 50.0|305 377 3NN+2 ¢Q 460 70.0 52.0
106 103 INO+1 a7 -120 54.0 68.0|280 270 3NV-2 3 200 72.0 50.0 (310 372 4ANN+1 vQ 460 70.0 52.0
108 101 INO+1 46 -120  54.0 68.0|404 478 2NV-2 &2 200 72.0 50.0|373 309 3NN+2 ¢Q 460 70.0 52.0
172 177 INO+1 45 -120  54.0 68.0(480 471 2v V-2 ¢3 200 72.0 50.0|406 476 3NN+2 vQ 460 70.0 52.0
204 276 INO+1 &2 -120 54.0 68.0|501 504 24 O-2 4K 200 72.0 50.0 ({410 472 3NS+2 vQ 460 70.0 52.0
205 275 INO+1 2 -120 54.0 68.0|603 602 2NV-2 ¢4 200 72.0 50.0|479 403 3NN+2 ¢Q 460 70.0 52.0
206 274 INO+1 3 -120 54.0 68.0|680 672 2NV-2 ¢4 200 72.0 50.0|503 502 3INS+2 «Q 460 70.0 52.0
210 270 INO+1 &2 -120 54.0 68.0(305 377 INS+1 +J 120 59.0 63.0|508 576 3NN+2 ¢Q 460 70.0 52.0
272 208 INO+1 2 -120 54.0 68.0|479 403 INS+1 7 120 59.0 63.0|571 573 3NS+2 &6 460 70.0 52.0
277 203 INO+1 2 -120 54.0 68.0|110 101 24 N= T 110 56.0 66.0|574 510 ANN+2 ¢Q 460 70.0 52.0
301 304 INO+1 &2 -120 540 68.0|105 106 1v V-1 ¢33 100 42.0 80.0 (575 509 3NN+2 vQ 460 70.0 52.0
303 302 INO+1 &5 -120 54.0 68.0|109 102 2v V-1 ¢5 100 42.0 80.0 (603 602 3NS+2 &7 460 70.0 52.0
380 372 INO+1 48 -120 54.0 68.0|205 277 2NV-1 &2 100 42.0 80.0|605 679 3NS+2 &«Q 460 70.0 52.0
408 476 INO+1 &2 -120 54.0 68.0(211 271 2NV-1 &9 100 42.0 80.0 (606 678 3NN+2 vQ 460 70.0 52.0
471 473 INO+1 2 -120 54.0 68.0|273 209 2v V-1 &5 100 42.0 80.0 (674 610 3NN+2 vQ 460 70.0 52.0
475 409 INO+1 2 -120 54.0 68.0|306 376 2NV-1 ¢5 100 42.0 80.0 (680 672 3NS+2 «Q 460 70.0 52.0
505 577 2N O = &K -120 54.0 68.0(474 408 2v V-1 5 100 42.0 80.0 111 175 4NN= vQ 430 38.0 84.0
506 576 INO+1 2 -120 54.0 68.0|505 579 2NV-1 43 100 42.0 80.0(203 279 3NN+1 vQ 430 38.0 84.0
602 601 INO+1 45 -120 54.0 68.0|508 576 INV-1 ¢33 100 42.0 80.0 (407 475 3NN+1 vQ 430 38.0 84.0
604 678 INO+1 42 -120 540 68.0|601 604 2v V-1 43 100 42.0 80.0|480 471 3NN+1 vQ 430 38.0 84.0
375 309 2y O+1 6 -140 34.0 88.0|605 679 2NV-1 ¢4 100 42.0 80.0 (507 577 3NN+1 vQ 430 38.0 84.0
171 178 INO+2 45 -150 23.0 99.0|606 678 1lv V-1 &5 100 42.0 80.0 (402 401 5¢ N+1 &4 420 30.0 92.0
279 201 INO+2 3 -150 23.0 99.0|674 610 2NV-1 ¢33 100 42.0 80.0 506 578 5¢ N+1 «4 420 30.0 92.0
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406
480
507
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579
610
679
102
110
502
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109
680
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478
472
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270
308
408
271
303
106

5¢ S+1
5¢ N=
5¢ N=
SNN=
3vDO-2
24 V-4
3¢ N+4
2N N +2
4¢ N +2
3¢ N+3
3¢ N+3
3¢ N+3
4¢ N +1
24D O -1
5¢ N-1

420
400
400
400
300
200
190
180
170
170
170
170
150
100
-50

ONPOOOORD
[eleolololololeolole]

92.0

98.0

98.0

98.0
102.0
104.0
106.0
108.0
113.0
113.0
113.0
113.0
118.0
120.0
122.0
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